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research based feedback analysis will prove to be catalyst in the improvement of overall
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Learning Outcomes

By the end of this-unit. you will be able to:

* Write ordinal numbers from first to twentieth

*  Write numbers 1-100 in words.

* Read numbers up to 999.

*  Write numbers up to 999 as numerals.

* Recognize the place value of a 3 - digit number.

* Identify the place value of a specific digit in a 3 - digit number,

* Compare 2 - digit numbers with 3 - digit numbers.

* Compare 3 - digit numbers with 3 - digit numbers.

* Count backward ten steps down from any given number.

* Armrange numbers up to 999, written ln mixed form, in ascending or
descending order.

* Count and write in 10s.

* Count and write in 100s.

* ldentify the smallest/greatest number in a given set of numbers.

* Recognize that 1000 is one more than 999 and the first 4-digit number.

Ali is studying in a library.
Can you count the books in the shelf?
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Let us look at the honey bees
and their positions.

Third

Foy{t{b_ G

~ M (o

Fifth S}{@‘_ﬁ k‘(

Seventh Eighllh Ninth Tenth

th 14th .

T EX.

Thirteenth  Twelfth
Sixteenth Fifteenth Fourteenth

iR B d d

Eighteenth  Nineteenth Twentieth
Ordinal numbers are used to represent the position of objects.

- For effective teaching and learning, use ‘urdu or local language' as mediumof
instruction to explain the concept of numbers.

'Q\&;f Ask the students to stand in a queue (or gama) and éxplam their posltiom usina ‘
Iui

\

ordmal numbers.
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Write the position of first 20 English alphabets.
-C
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Counting up to 100 in words

Let us read and write counting up to 100.

& g,
1 | 8 |[ 15 | 22
. One JI Eight || Fifteen j'J Twenty two |
| A S L S — (_________
2 H 9 16 23
| Two ) Nine  j[. Sixteen J;, Twenty three
oOrY's [
3 [ 10 || 17 [ 24
' Three Ten L SeventeenJ  Twenty four
T \( ( |
4 18 25 |
! Four L Eleven Ji Eighteen i Twenty five ’
T [ (
| 5 12
| Five - ”Twiely”e )1 Nineteen _ Twenty-six §
; RS T AR W e Y
6 | 20 27
| Six ‘, Thirteen | Twenty | |{Twenty seven
- — - &
/ 14 || 21 | 28
Seyee . Fourteen “ Twenty one || Twenty eight

%' -

4.

v

e
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29 37

Twenty nine Thirty seven

30 38

45

Forty five

46

Thirty Thirty eight | Forty six
Thirty one Thirty nine | Forty seven |
AN 0

53

Fifty three

54

. Fifty four.

.

32 - 48 | 56
Thirty two Forty . Forty eight |/ Fifty six

33 41 | 49 [ 57
- Thirty three  Forty one . Fortynine || Fifty seven
34 42 - 58 |
" Thirty four _ Forytwo || Fity L “Fifty eight
" PP s N7 i
. 35 43 |[ 51 ) |
| Thirtyfive  Forty three ; _ Fiftyone || Fifty nine {

[ 36 | a4 | 52
Thirty six | Fortyfour || Fifty two

e et

60

i
I
l
f
y
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R Slxty one

[

62

67
$i§’t_y_ seven
68
_ Sixty eight

—

————————

69

- Sixty nine

—

70

Sixty two Seventy
Sixﬁ_ree ' Seventy onel

64
Sixty four Seventytwo»

|

[

e

Seventy ihree _ Eighty one

74

Seventy four |

S'eventy five

_Seventy six

77

i

' Seventy seven .

78 86

| | ! . .
E!Seventy ei_ght%‘ Eighty six

Eighty five

______.———I

[
\ | | i

|- 87

' Seventy nine || Elghty seven

___,__._______‘
e

80 | 88
" Eighty 3‘. Eighty eight |

89

| |
LElghty nine |

e et

.81

R
|

"’“‘f".‘__'?f"'\.

82 |-
Eightytwo  Ninety !
e
83 91
Elghty three \VNlnet_)_r one

- -r/
,—— R s tiniit

1‘- 8
' Eighty four |

E———

Nmety two

_ :

¢ e
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Nlnety three

093

97

Nlnety seven

Ninety four

e

_ Nlnety five

Uzn
Nmety elght

100

pne Hundredj

s

%

. Ninety six J

i éé“ |

Nlnety nlne

]

0 is the smallest 1-digit number.
9 is the greatest 1-digit number,
10 is the smallest 2-digit number.

99 is the greatest 2-digit number.
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10 ones 1ten
1 ten 2 tens 3 tens 4 tens 5 tens
10 . 20 30 40 50

If we keep counting in tens, we get

'lllll'll one hundred

10 tens

P\ Guide the students to read mi’nu PR ey
gm; smallest 3-d|gu numréjo g ! P 10
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Let us count in 100s with the help of blocks.

100 200 300

2 hundred B hiindred

400 500 600
4 hundred

5 hundred 6 hundred

e

| w

800 | 900
7 hundred ]

8 hundred l 9 hundred

e

(% CamScanner
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of blocks.
4 ) -
s
- -
. + lI + =
C
+ 20 + 6 = 126
one hundred twenty six  one hundred
and twenty-six
\ J
\
+ 1
4
+ 2 = 342
two three hundred
and forty-two y
\
-8
.8
& | 999 is the greatest |
: i 3-digit number. |
8
900 + 90 + 9 = 999
nine hundred ninety nine  nine hundred
and ninety-nine p

f

(% CamScanner


https://v3.camscanner.com/user/download

1. Write the given numbers in numerals,
!

}
| Fiftaan . /

- Forty one | )

}
|

| Seventy // |
o

Twenty two )}/ | )

Fifty eight )/ ” )

-

Eighly fourwmr J

2. Write the given numbers in words.

——— S —

(1
()

©

‘3. Complete the following.

0
238 EE2 R 242\ jD

Thirtysix ! J ,
’ ___J'

Slxty three f

ﬂﬂ@

Csez 3 W {ses J VT \(Tses

I W 0 | | 7

N 0 W .73 i

R 1

mi—

‘Ir-‘i"
LS

(%3 CamScanner



https://v3.camscanner.com/user/download

T T,

4. Writes the Tollawing nurmbers in numorals,

~ One hundred ity two el
Thmo hundmd lhiny ‘?‘_9_"! :‘”’“”"'“"‘:“"“ e : :
Four hundrod ity L

" Five hundred nine ¥ e

"~ Six hundred fifty eight 8 o
Seven hundred eleven f&}, o B -
Eight hundred sidty eight i
Nine hundred ninety nine

5. Write the following numbers in words.

75 Seventy five

32

60

89

45

79

81
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Place Value of 3-digit Numbers

The place value of each digit is found by its position in a number.

—

o8

r— e e i

Hundreds ' Tens Ones
ﬁ‘i‘ﬁ"‘rﬁ' ° o
i a9 D
{ 2 tens 6 ones
g 20 -
20+6=26

The digit 2 is in the tens place. So, its value is 20.
The digit 6 is in the ones place. So, its value is 6.

\Let us f nd the place value of 2 and 6 in 26.

)

¢ ¢ < Letus find the place value of each digit in 24iJ

-

‘\sz*‘k

Hundreds Tens Ones
'L-p
& ‘?a;?'ﬁ'l = )
® o T
| S 1o
‘2 hundreds | 4 tens Sones :“Sl‘\
200 40 5 | 34!
.F (':.\ |
200 + 40 + 5 = 245 ¥a
The digit 2 is in the hundreds place. So, its value is 200. \\‘X\ |
The digit 4 is in the tens place. So, its value is 40. gt

The digit 5 is in the ones place. So, its value is 5.

Lol e J
ot

BT
S S
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h ~ { How many hundreds, tens and ones are there
' inthe given numbers?

.-
PaN 400, 305

-

Hundreds | Tens

PV RS—— .

300 00 8 *
3 hundreds 0 tens 8 ones
| Hundreds | Tens RO it
|
400 00 | 0
4 hundreds 0 tens i 0 ones
i ¢ i Tell the place value of the coloured digits.
' \L 472|238
3tens = 30 : 4 hundreds = 400
. Try Yourself

LHow many hundreds, tens and ones are there in 3333

~ . Explain the concept of place value of numbers usi taching aids (chart. abacus,
[, H) Write different numbers on board and guide the Mbwhpﬁu&
Ve of numbers. ' Y ;

14 A

(% CamScanner
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Exercise 3 7

1. How many hundreds, tens and ones are there in the given

numbers?
a N M ™ 3
6 |ones ones ones
3 |tens tens 285 tens /419
1 |hundreds ) hundreds hundreds
G . J J
& Nl N Pl
ones ones ones
tens tens tens 771
| hundreds i hundreds hundreds J
& -y h N Fa I
ones ones ones
tens tens 800 tens @
$ hundreds hundreds hundreds )

2. Write the place value of the coloured digits.

—
125 2 tens 270 598
418 600 301)
764 996 850
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3. Write the number with the help of place value.

100 +30 + 2 = (132\') 200+ 10 + 5 =
500+50+0= ( ) 400+0+2=
N, H
PN il
700+ 10+ 9= L} 800+80+8=
600 + 00 + 0 = :Q 900+90+6=
4. Write the number for the given place value.
Place Values of the Numbers Numbers

1 ones, 2 hundreds, 5 tens 251

3 tens, 5 hundreds, 4 ones

6 tens, 0 ones, 6 hundreds

5 hundreds, 7 ones, 0 tens

8 ones, 9 tens, 1 hundred

0 ones, 3 hundreds, 0 tens

.l 16 W

T Ty T et

(%3 CamScanner


https://v3.camscanner.com/user/download

Comparlson of 3-d|g|t Numbers /

e —— v adde

Fatima collects 435 coins and her friend collects
85 coins. Who has more coins?

)

To find who has more coins, we will
compare both numbers.

¥

435 is a 3-digit
igit number. Hundreds Tens Ones
g5 is a 2-digit number. 4 3 5 r
So, 435 is the greater than 85. 8 5

Therefore, Fatima has more
coins.

When comparing a 3-digit number with a 2-digit .
number, the 3-digit number is always greater. .

Let us compare 518 and 376.

Hundreds Tens Ones
5 1 8
3 7 6

igits in the hundreds place.

First, we compare the d
an 3 hundreds.

5 hundreds is greater th
So, 518 is greater than 376.

or more

} iy

el i eompara the digits in

3-digit numbers, i first we

[ When comparing two _
the hundreds place. The number
the hundreds place is the greatest.

with the greatest digit in

“17

e

CamScanner
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5 {Let us compare 368 and 321 J

Hundreds Tens Ones
3 6 8
3 2 1

First, we compare the digits in the hundreds place. Both digits are

same.
Now, we compare the digits in the tens place. 6 tens is greater than

2 tens.
So, 368 is greater than 321.

—rLet us compare 469 and 463.J

Hundreds | Tens Ones
4 6 9
4 6 3

First, we compare the digits in the hundreds place. Both digits

are same.
Now, we compare the digits in the tens place. Both digits are same.
Now, we compare the digits in the ones place. 9 ones is greater

than 3 ones. So, 469 is greater than 463.

ot B YR BB
( H | Write different pairs of 3-digit numbers on board and e

\"m ¥ with the help of their place values without usmg symbds g<,=n oot
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< Can we find the smallest
| and the greatest numbers

a. in these numbers?

235/ 518 147 .

{

| Yes. we can find the smallest and the
greatest numbers by comparing plaoe

t value of the given numbers.

2 3 5
5 1 6
1 4 T i

First, we compare the digits in the hundreds place.
5 hundred is the greatest.

So, 518 is the greatest number.

Similarty. 1 hundred is the smallest.

So, 147 is the smallest number.

Mow. we write 235 516 147 in order as,

— Y —

147 | | 235 | 516 |

' '
The smallest  The greatest
number number

{ The arrangement of numbers from the smallest J7

(% CamScanner
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ls1sj ,235] |147]
2 T
The smallest

The greatest
number

number

The arrangement of the numbers from the greatest
to the smallest is called descending order.

in aScend'ing and descending ord“,..-

Write | 162 (203 | [ 168

First, we find the smallest and the greatest numbers
by comparing place values of the given numbers.

Then, we will write in order.

2 hundred is the greatest. HiRdrads Teﬁ S Oneéﬁ‘%

S0,203 is the greatest —
1 6 2

number.

Now, we compare 162 and 2 0 3

168. The digits in the 1 6 8

hundreds place and tens
place are same. But, 8 ones is greater than 2 ones.

So, 162 is the smallest number,
Ascending order

162| (168 | 203

Descending order

— L T 20 [Ene e
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1. Encircle the greater number,
f 18: 121 248 | 98 198 | 218
{80'6_ 599 749 | 497 899 | 999
2. Encircle the smaller number.
iwég 100 212 | 169 309 | 289
550 | 505 700 | 699 998 | 989
3. Fncircle the greatest number.
| 115 | 85 | 135 214 | 275 | 250
390 & 388 | 369 689 | 700 | 599
faog 799 | 690 998 | 899 | 999
4. Encircle the smallest number.
Ews o | 101 318 | 381 | 183
500 | 482 142 | 241 | 412"

l510
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.

wiite the following numbers in the ascending order.
5.

aows (JCICIO)

452 498

weesr ()L

809 990

womms (I

5 \\%_

6. Write the following numbers in the descending order.

200 128

wwee [ JCICICIL )

708 485

650 606 599 L ]L jL M J( B
850 750 | T
550 650 950 L ) L j L ] ( _.;

e ek
(e 22

(%3 CamScanner
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10

~
Let us count and write backward counting 10 steps

down from t112 and .343‘.

J

102

- -

1110 {109 1108 {107 H106 {105 104 {103

> ——

339338 [{337 336 [{335[{334 333

343 342113411340

v rite backward counting 10 steps down from the given numbers.

%l }q L4 Mecamylis Hoamoll 8 e
255 w “
?73 T H "k )
3'350 - 1
9

mmmmmhwmwwammmmﬂwbm
! t/ﬁ badmardcwnﬂmwstepsdawnfmmmwmmmbefsonboa:d :

ﬁza—

(%3 CamScanner
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Counting in 10s

@3 ( Let us count in 10s. J
000 00 OO
© @; o GO 000

+10 +1 +1
/\/\/\f\,
10 20 30 40 50

i3 Try Yourself —— ag
1. Complete the following by counting in 10s. ‘
40 “mE | 100 |
1086 e < -we =140 160/ BREE |
30 =’ pEg 400
| 2. Wnte the n;t 6 nu_m;);; t;; c;untmg in 10s.
90 -
220 3,3 -
580 - s
690 - sk
e ——— bt

(\\ Encot_:raqe the students to read and write the next numbers from the given numbers by
yng cCOUNting in 10s.
o
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Counting in 100s

ﬁ] Let us count in 1003]
100 200 300 400 500

+100 +100 +100 +100

N RTINS N
100 200 300 400 500

P e ik |
[ Wr—

BN F ]’ry Yourself N

-

i F Cfomplete the following by counting in 100s.
300 | 600
210 310 610
450 ' 950
2. Write the next 5 numbers by counting in 100s.
105 205 305 405 505 605
330
190
444

A

Encourage the students to read and write the next numbers from the given numbers by
counting in 100s.

CamScanner
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Hundreds |  Tens | ¢
9 9

e —————

f 999 is the greatest 3-dlg|t number W
] the next number? be J

B

e -

If we add 1 more to 999, what number will we get?

999 + 1 =1000 one thousand

1000 is the first 4-digit number.

In the place value chart, we represent one thousand.

Thousands ! Hundreds Tens
1| 0 0

" (¢
w

L 1000 is the smallest 4-digit number. ]

. Explain the children to recognize 1000 as ‘one more than m,‘ em that 1000 is e
(,%... first and the smallest 4-digit number. z
g ¥
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| Have Learnt .ﬁ"

b use the ordinal numbers to represent Vocabulary
e position of the objects. ¢ Ordinal Numbers
b read and write numbers up to 3-digits. | « Compare
o identify the place value of 3-digit * Ascending Order
umbers. « Descending Order
- to compare 3-digit numbers.
. '{to write 3-digits numbers in ascending and descending order.
+ 'to count ten steps down from any given number.
« Ito count and write in 10s and 100s.
' to recognize 1000 as a 4 digit Number.

1. Choose the correct option.
i) Inwords, 46 is written as

(a) thirty six  (b) forty six  (c) fifty six (d) sixty six

i) Ordinal numbers are used to represent the of

the objects.
(a) shapes (b) quantity  (c) position  (d) place value

i) Nine hundred and nine is written in numeral as

(a) 109 - (b) 901 (c) 909 (d) 999
iv) In 158, the place value of 1is __ .

(a) 1 (b) 10 (c) 100 (d) 1000
v)  Which number is the greatest?

(a) 999 (b) 990 (c) 909 (d) 989

_ e ] 27 (e

ol

(%3 CamScanner
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2. Recall English alphabets 2
alphabets.

: 3

———

T Q_  R—

3. Write the numbers in numerals.

D _4 G— J—

i) Eighty nine

i) Three hundred and thirteen

iii) Five hundred six

iv) Seven hundred eighty six
v) Eight hundred fifty nine

vi) Nine hundred seventy six

4. Write the numbers in words.

iy 96

iiy 269

iii) 404

iv) 890

v) 967

5. Write the place value of coloured digits.

59 B8tens o0

e N

- 870

ffiégQ’ A

o ———
@- |

CamScanner
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 |6. Write 10 steps down from the given number.

205

. Complete by counting in 10s.

220

8. Complete by counting in 100s.

130 430

9. Write the numbers in ascending and descending order.

Descending order (- \( \ \( \( | l

! V o - J -’ .'| P '—:"l
Il edurir e PRFU,
S aANTRe Jip Jre e 2025
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Learning Outcomes

By the end of this unit, you will be able to:

N
S
2+ Add 1-digit numbers and 1-digit numbers.
a * Add 1-digit numbers and 2-digit numbers with
4 carrying. )
- Add 2-digit numbers and 2-digit numbers with
g carrying.
~ * Solve real life number stories, involving
addition of 2-digit numbers with carrying.
* Add 3-digit numbers and ones without carrying.
g * Add 3-digit numbers and 2-digit numbers
without carrying.
* Add 3-digit numbers and 3-digit numbers
¢ without carrying.
* Solve real life numbers stories involving
5 addition of 3-digit numbers without carrying.
* Add 3-digit numbers and 1-digit numbers with

' carrying of tens and hundreds.

Have you ever listened to the bel|

:ere he has 5 green balloons and 3 yellow balloon
OW many balloons are there altogether?
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Addition of 1-digit Numbers

H

‘?{I have 8 candlesj | :77—1 1 [ have s candies. & =
.; | ; b

0

et us find together, how many candies both have?

' Tens | Ones Tens ' Ones Tens Ones
8 .....1 , fl--o- | 8 | !
...l PO 3
+ | “__s' N D l =, £ XLl
5 | '---- | oo® | U SR W—
o | f o 1 1 3

f When the sum of ones is more than 9

~ ¥ #%
, after adding, then 10 ones make 1ten. " - =~
| Carry 1ten to the tens place. | =
r—
T O
. ; &
Candies girl have = (])ﬁ 8
Candies boy have = 5
kTota| candies = |1 L : Step 1 .
- \ Add the ones.
Step 2 8 ones + 5 ones = 13 ones
because 10 ones = 1 ten
,Add the tens. " So, 13 ones = 1ten + 3 ones
Aten+Otens =1ten kCarry@len to the tens placci)

So, both have 13 candies.

- For effective teaching and leaming, use ‘urdu or local language' as medium of

L = instruction to explamtheconceptofadd
%n) Explain the concept of lens using teaching aids/common objects (match sticks,

penciis, elc).

T O R

. - | [ een— _—y

B N = B g

T T —


https://v3.camscanner.com/user/download

Addition of 2-digit Numbers y,

Ahmed's lawn has 25 plants. He
planted 7 more plants in his lawn,
How many plants are there in all?

A, | We will find the total
L .

— ] number of plants by
N 1 adding 25 and 7.

Tens
25 g E —
+ -2
7

4 - _ ~

Plants Ahmed added =,

o
Plantsinthelawn = 2| |5
7
2

Total plants = |3
- 2
2 . R atic
Step 2 i Step 1
Add the tens. Add the ones. ‘
@ten + 2 tens = 3 tens 5 ones + 7 ones = 1201

because 10 ones =181
. So, 12 ones =(ten * 10,
So, Ahmed's lawn has 32 plants in all. Carry(to the tens P

.

®\ Explain the concept of ‘making ten from ones’ and tell lhem that how
G tens place. e

L 32
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ol
I I—

ggolve the 26 and 47.
‘r Step 1
Tens | Ones | Add the ones.
L4 7 7 ones + 6 ones = 13 ones
because 10 ones = 1 ten
uy 6 So, 13 ones =M ten + 3 ones
carry@to the tens place.
7 3
\_ J
’y ra Step 2
When zero is added to any number, | | Add the tens.
the result is the number itself. (Dten + 4 tens + 2 tens = 7 tens

7

Exercise 1 1

1. Solve the following.

Y e o i R

(%3 CamScanner
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2. Amna has 24 books and Hina has 8 books. How many bookg do
both girls have altogether?

. T O

Books Amna has

Y

|

Books Hina has =,

I

Total books ] )

3. Raza
@ : There are | There are .
: "/ 35 students 28 students @
in my class. in my class.
How many students are there in both classes?
[ T O

Students in Maryam’s class =

19 )

Students in Raza’s class =,

Total students =
)

\,

4. A fruit seller sold 36 kinnos in the morning and 48 kinnos in the
evening. How many kinnos did he sell in all?

g T O )

Kinnos sold in the morning

Kinnos sold in the evening

Total Kinnos sold =
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[

Addition of 3-digit Numbers without Carrying

() -

Sajid likes to collect coins. He has 132 coins. .’
His brother gives 6 coins to him. How many coins i g |
does Sajid have altogether? s |
N/

< ‘Y Add 132 and 6 to find the total number of comsJ
&

Hundreds | Tens | Ones
132 AT {E—; :’?i {';E i a
&P | E i H
L R B 11 |
6 D oD
5 D D
1 | 8
p
H T O
Coins Sajid has = |1] [3] |2
Coins given by his brother = . 6
Total coins = |1 3 8
\ __J
' I
v
v Step 1
| Step 2 Add the ones.
Add the tens. 2 ones + 6 ones = 8 ones
3 tens + 0 tens = 3 tens

A/

ﬁa Key Fact

Step 3

Add the hundreds.
1 hundred + 0 hundreds = 1 hundred When adding 3-digit numbers,
first add the ones, then the

tens and finally the hundreds.

So Sajid has 138 coins altogether.
T 35

S ————— i ] o e -

D i R R
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Add 316 and 82.
Hundreds | Tens | Ones
3 1 6
+ 8 2
3 9 8
Step 2 1 Step 1
Add the tens. Add the ones.
1ten + 8 tens = 9 tens | 6 ones + 2 ones = § gneg
Step 3 )
Add the hundreds.
3 hundreds + 0 hundreds = 3 hundreds |

A bookseller sold 435 books on Tuesday A\
and 362 books on Wednesday. How many Book Shop

books did he sell in both days altogether?

Q Hﬁlnt_

Fi'rst a&d the ones, then tHe .
tens and finally the hundreds. |

r &
TR0
Books sold on Tuesday = [Z 3| |5
Books sold on Wednesday = [3] [6] [2
| Total books solq g A PP R Bl

S0, 797 books sold in tw days.
\ :
” 36

(%3 CamScanner
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\g — B A N »,
(a1 olJ(TwT+ (R TTlo
4 4 1 L 6 0 7 |l 2 7 2 A

+ 5 8 ; 8 2 12 7
— 7 \ - -/ (- S
T o (R Tt ToN(TH T+ o)
6 2 6 0 8 H 2 4 2 |

3 7 !+2 9 1 Sy
W\ - =7 S

2. Rehan likes to play cricket. He buys a bat for Rs. 390 and a ball
for Rs. 208. How much amount does Rehan spend in all?

T H T o]

Coét of the bat =
Cost of the ball =,

i —
l:tfal amount spent
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_’fh-e'ré are 198 students fr—{;ﬁ;?dm“"‘““ﬂ-
- 6 more students get admission. Fina'me .
total number of students in the schogy

—\\JI
We can find the total number of students by adding 1gg
Hundreds Tens _“"'""%:\ds

4

‘When the sum of tens is more than 9 after adding, then 10 |
lens make 1hundred. Carry 1 hundred to the hundreds [Iam?

f

H T O
Number of students = TT_T T@ 8 Step 1
N : ‘ Add the ones.
ew students = 6 8 ones + 6 ones = 140
=ie
@tal students = (2lloll4 5 bsﬁﬁgffm shos
| k e
4 l ( ¥ ‘
" Step 2 *

Ad e 3 Add the tens. g ?

1 hd the hundreds. Tten + 9 tens + 0 tens = 10 tens “

L 2“h"d"ed + 1 hundred because 10 tens = 1 hundred
_ < undreds | | Carry(Dhundred to the hUﬂf_;'djf;
So, tota : .

s | ngmber Of students in the school is 204. ot

CamScanner
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% In our viliage, there is 2 garden. There are 254
. mango trees and 78 guavz trees. How many
trees are there in the garden altogether?

will find the total number of trees by adding 254 and 78.

" Hundreds |

- —— o  ———

| gtTeRELRLR
e

\

SN e

TRt

| SRS nnne

Loy
R
manun

E
LR

|
l

O (ymse

(o)
Mango trees = 1( 4 i Step 1
8
2

Add the ones.

4 ones + 8 ones = 12 ones
12 ones = 1 ten + 2 ones

J LCarry(;l)ten to the tens place.

Guava trees =
LTotal trees = |3

y,

it Step 2

| Add the tens.

a’ {ten + 5tens + 7 tens = 13 tens
13 tens = 1 hundred + 3 tens

| Carry(@hundred to the hundreds place. |

™

Step 3

Add the hundreds.
‘1’hundred + 2 hundreds = 3 hundreds

So, there are 332 trees in the garden altogether.

(% CamScanner
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and 265 sheep.
How many animals are there in the

farm altogether?

ﬁ | We will find the total

= | number of animals by
> | adding 345 and 265.

In an animal farm, there are 345 cows

Hundreds

345

265

4

H T O
; ({7 -
Cows in the farm = *1E \[)4— 5 s Step 1 i
: ‘ the ones.
Sheep in the farm =+12]|6]|5 5 ones + 5 ones = 10 ones
Total ani L because 10 ones = 1 ten
- e = (8 [11]0] LCarry(i)ten to the tens place.
r“'_“—*————u—._
| f w
. ' Step 2 |
Step 3 e Add the tens.
Add the hundreds. (Dten + 4 tens + 6 tens = 11 tens

Dhundred + 3 hundreds
+ 2 hundreds = 6 hundreds

because 10 tens = 1 hundred
So, 11 tens = 1 hundred + 1 ten.
. ¢ Carry®hundred to the hundreds place-

So, there are 610 animals in the farm altogether

S 0 e

_ad

(% CamScanner
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/3
Exercise 3 @

1. Solve the following.

H | T H|T HT/]O

1 8 5 2 4 9 5 7 4

+ 6 + 6 + 7
Hial .1 T T

7 9 5 8 9 7 5 g 3

+ 8 + | 3 + 4 9

|

o) T|O (o)

3 5 4 2 0 9 8 2 7

+ 6 8 + 9 1 + 7 6

o) H T|O (o)

7 3 9 2 2 3 3 8 4

+ 6 2 + 1 5 8 + 1 2 6

(%3 CamScanner
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A |

2. In a test match, Pakistan team scored 426 runs in the firgy j
and 378 runs in the second innings. Find the total rung scorn b
the Pakistan team in both innings. bl

s e - P— — v
N e

- H T O
Runs in first innings =
Runs in second innings =

LTotal runs in both innings = ) i

| Additio’n of Numlge_i's using Mental Strategy’

o 4 Add 20_and 15 using mental strategy.

20 + 15 20| + [10] = 30
o| + [5] = 5
T, e T

(Add 32 and 17 using mental strategy. % "

30 + 10 = 40

32 + 7T
el + |F
32 + 17

1l
(o)
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Add using mental strategy and complete the following.

(@) 20 + 18

b) 15 + 12
9 G

(c) 30+10=
6 10+12= |
i) 23+15=

* to add numbers up to 3-digits without

carrying.

* to-add numbers up to 3-digits with

carrying.

 When adding 3-digit numbers, first add
the ones, then the tens and finally add the hundreds.

» When the sum of ones is more than 9 after adding, then 10
ones make 1 ten. Carry 1 ten to the tens place.

« When the sum of tens is more than 9 after adding, then 10 tens
make 1 hundred. Carry 1 hundred to the hundred place.

* to use addition of 3-digit numbers in real life.

I 43

20 + &=
0 + =
18 =
10| + =
+ Y. =
12 =
20+ 10 = (e) 30+20=
20+ 11 = (h) 14+12=
35+13= (k) 42+7=
| Vocabula?f(
e Addition
¢ Without carrying addition
 With carrying addition

CamScanner
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m

Review Exercise S

1. Choose the correct option.

i) 25+0=___ ——

a) 250 b) 205 c) 25 d) 0
i) 100+10= __———
a) 1000 b) 101 c) 100 d) 110
i) When adding 3-digit numbers, first add the
a) ones b) tens c) hundreds  d) carryin, "
iv) When zero is added to any number, the result is the &
a) zero b) number itself
c) greater number d) smaller number
v) Adding 3-digit numbers, we add at last.
a) ones b) tens c) hundreds  d) carrying digt

2. Solve the following.

T (o) T 0
+ 6 E 8
T | O T T o
3 7 5 1
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H §T
e
" 7
H | T
4 5
+
H|T
5 8
3 8
H | T
6 6
4.: 1 9
H T
6 9
w2 9

6
T o

1 P

8 5
T|oO

9 4

7

T|O

9 8

3 3
T!O

9 9

0o 8
I1]o
A
K.

H (o)
6 2
2 6
H (0)
3 7

6
H (o)
5 b
2 8
H (@)
7 7
1 9
H (o)
8 8

7

— = —
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QHint_ -

Look and write the price of t9

3. Ahmed buys @ car and a ball
from toyshop. How much
amount does Ahmed pay to

the shopkeeper?

4. Amna buys a teddy bear
and a ball from the toyshop.
How much amount does
she pay to the shopkeeper?

5. Irfan buys a bicycle and a
car from toyshop. How much
amount does Irfan spend?

6. Iram wants to buy a teddy
bear and a bicycle from
/ toyshop. How much amount

does Iram need to buy
both toys?

ys from the given pictures,

|

(- H T 0)
Car price = e 1 El
Ball price =4 ‘“.D:

t paid = —\-’:

\Amoun pai @)

" H T o
Teddy bear price = D
Ball price =4 D

U

Amount paid
-

¥ AT 0
Bicycle price = 10
Car price =4 __:—;

 Amount spend = ;;JJ

- ——"

S

Teddy bear price = | | : [:
Bicycle price . =+::_—j’;

émount needed = 4:’;5
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Learning Outco

By the end of this unit, you will be able to:

’.
mes

Subtract 1-digit numbers from 2-digit numbers with borrowing.

Subtract 2-digit numbers from 2-digit numbers with borrowing.

Solve real life numbers stories of subtraction of 2-digit numbers with borrowing.
Subtract 1-digit numbers from 3-digit numbers without borrowing.

Subtract 2-digit numbers from 3-digit numbers without borrowing.

Subtract 3-digit numbers from 3-digit numbers without borrowing.

Solve real life number stories of subtraction up to 3-digits without borrowing.
Subtract 1-digit numbers from 3-digit numbers with borrowing.

Subtract 2-digit numbers from 3-digit numbers with borrowing.

Subtract 3-digit numbers from 3-digit numbers with borrowing. j
“Solve real life number stories of subtraction up to 3-digit numbers with borrowing.

Analyze simple situations identifying correct operation of addition and subtraction |
with carrying/borrowing in mixed form.
Subtract numbers up to 50 using mental calculation strategies.

| | have 15 pencils.

- Ayesha has 8 pencils.

How many less pencils does
Ayesha have than 1?

o~

TR SRS
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N

gubtraction of 1-digit Numbers from
2.digit Numbers with Borrowmg }
e @ @y’ge is 24 years
Raza 3 : Salman \-,
]
e mwig is oﬂié;ﬂl)—;su}ni;;cgln k

\\ 8 from 24.

e
One

Ak Ones Tens es
o e
3% — 2% 8
- @ 2% o
o Ha e
2 4 1 6
7 Yy ok . Step 1
o —1 (0 Subtract the ones.
Raza'sage = Z| T4 ]| | we cannot subtract 8 from 4.
" | [al| |Therefore, we borrow 1 ten as
Salman 'sage=—| | |8 '
L0l b =1 110 ones from the tens place and carry
:leference - f 1_] [_6_” >| to the ones place.
Lo ) |®ten + 4 ones = 10 ones + 4 ones
¥ =14 ones
Step 2 14 ones - 8 ones = 6 ones
Subtract the tens. - e

1ten-0tens =1 ten

S 8
llﬂj

mstructlon to explain the concept of subtraction.

Explain the students how to bo borrow 1 ten as 10 ones from the tens Pm”'

So, Raza is 16 years older than Sa"“a"'

For effective teaching and learning, use ‘urdu or local language’ as mediumd i

(%3 CamScanner
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~ Subtraction of 2-digit Numbers
with Borrowing
Nida has 24 apples. - )

She gives 15 apples to Ali.
How many apples are left with Nida?

8, 554 We can tell how many apples are left with
' Nida by subtracting 15 from 42.

T J
; - "
. 310 Step 1
Apples Nida has = 2 o
PP A j Subtract the ones.
Apples giventoAli=_{ 1| |5 We cannot subtract 5 from 2.
Therefore, we borrow 1 ten as
\APPIeS left = [2] [7 17| 10 ones from the tens place and
carry to the ones place.
‘ 1 ten + 2 ones = 10 ones + 2 ones
[ Clue Words for i =12 ones
Subtraction . 12 ones — 5 ones = 7 ones
o left
e how many more Step 2
Subtract the tens.

e how many less/fewer
3tens — 1ten =2 tens

® remain

* difference | So, 27 apples are left with Nida.

(%3 CamScanner
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6 3 5 7 9 5 6 1
2 7 1 8 -3 6 4 2

T]O T O T]O T]oO

7 0 8 2 9 8 8 0
aode . - 4 _5 5 -5 9 N

2. There are 45 passengers in a bus. If there are 18 women, how
many men are there?

—

l Passengers in the bus

! Number of women

AN S

| Number of men

( ———— —— —————— e e e’

—50
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Subtractlon of 3-d|g|t Numbers without Borrowmg

In a goat farm, there are 148 goats.

If 5 goats are sold, how many
goats are left? %

; ! While subtractlng 3-digit nurﬁbérs first subtract the

ones, then the tens and finally the hundreds. ) |
Hundreds : Tens - Ones
& @ 61
TIIEFE
} B A @
BHE 2
1 4 3
: | H T o)
Goats in thefarm = [T 4| | 8
: | Step 1
Goats sold e 0 Subtract the ones.
 Goats leftin the farm= [ 1] 4| |3 ) |8 ones — 5 ones = 3 ones
, » Step 2
l Subtract the tens.
4 tens — 0 tens = 4 tens
Step 3

Subtract the hundreds. i
1 hundred - 0 hundreds = 1 hundred |

So, 143 goats are left. |
\
= e

(%3 CamScanner
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e A

mza has read 63 pages,

7 pages. Ha
of BEE mza have to read?

ges does Ha

" H
Pages in story book = LZHE L wtap 4
[_6j 3 Subtract the oneg

d=—
Pages Hamza has rea
o 5 |7 ones - 3 ones =
| Step2

— > | Subtract the tens,
8tens-6tens=2 ten
—_—<ens |

A story book has 2
How many moreé pa

Step 3

Subtract the hundreds. '
2 hundreds — 0 hundreds = 2 hundreds

as to read 224 pages.

So, Hamza h
There are 475 workers in 2 factory. If there are 235 male workers
then how many female workers are there?
o | H T GF
Workers in the factory = 4 7115
Number of men = =12 3||5
| Number of women = 2] {41808
d Step 1
- Subtract the ones.
Fubtract thsettee?m 52 5 ones - 5 ones = 0 ones
7 tens — 3 tens = 4 tens
Step 3 4 DOYE . &)
ft;btrzct éhe hundreds. . When zero is subtracted
undreds — 2 hundreds = 2 hundreds| © | from any number, the -
result is the number itself.
So, there are 240 female « When any numberis
workers in the factory.  subtracted from itself, the
== | resultiszero. )
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1. Solve the following.

[E T|O
PRy
- i 6

H|[T|O
8 5 2
-4 2 1

‘H T owa T OP? 1
3 0 9 | 6 7 5 2 |
- L = 4 | |
3 L 1
(TaTT Oi](VH T oﬁ?
| &8 * 5 || 6 8 7 i
- 4 2 w2 8. 1 | |
= 0‘1(7H 710
7 8 6 |, 5 6 9
-4 3 3 {—3 0o 7
(L o s ny
(Th [T oi}fﬁﬂ- 710
7 o0 1 |1 5 8 7!
2 o 1 |i-8 7 6
Y HP RN up

many boys are there?

(

Girls in the school

Students in the school =

Boys in the school

2 There are 685 students in a school. If there are 384 girls, how

KUAR
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A shopkeeper bought 132 pens He soId 9 pens
in a day. How many pens were left with shopkeeper?

9 from 132. We cannot subtract 9

d from 2. Therefore, we borrow 1 ten
as 10 ones from the tens place and

carry to the ones place.

@ We can get the result by subtracting)

Hundreds| Tens | Ones| Hundreds| Tens | Ones
Hi | o -
£f e a
e
& 0\
1 3 2
| N i i
- Pens shopkeeper bought = 1 % 2 .
Pens sold 55 g
{ Pens left - 1 5] 3
3 ]
I I ;
v ( Step 1 q

Step 2 Subtract the ones,
Subtract the tens. }30"0&' 1tte“ s 10 gnes
i 8 rom the tens place an
2tens - 0 tens = 2 tens carry to the ones place.

12 ones — 9 ones = 3 ones J

Step 3

Subtract the hundreds.
1 hundred - 0 hundreds = 1 hundred

So, 123 pens are left with the shopkeeper

(\ Demonstrate to the children how to borrow 1 ten as 10 ones from the tensplace
teachnng aids (blocks, match stitches, efc). S Ty

40”

_al

(%3 CamScanner
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In a festival, Maryam spent
Rs 465. Her friend spent
Rs 26 less than Maryam.
How much amount did her
friend spend?

»

| undreds! Tens

' We cannot Subtraci 6 from 5. Therefore, we borrow ;
| 1ten as 10 ones from the tens place.

Ones Hundreds| Tens | Ones
D53 v 11 ps T | ey Qi
- o “.. ', = oy ~ : Do ¢
@ . aiis
4 6 5 4 3 9
{‘ ‘ H T O
' Amount spent by Maryam = 3 805
|
' Less ambunt spent by her friend = — 2] | 6]
LAmount spent by her friend =144 3 b_?“__
Step 1
4 Subtract the ones.
Step 2 Borrow 1 ten as 10 ones
Subtract the tens. from the tens place and

S tens — 2 tens = 3 tens

v

Step 3

Subtract the hundreds.
4 hundreds - 0 hundreds = 4 hundreds

So, Maryam's friend spent Rs 439.

BeinionT |

35

.

carry to the ones place.
15 ones - 6 ones = 9 ones

7

(% CamScanner


https://v3.camscanner.com/user/download

There are 502 orange and apple trees L
in a garden. If there aré 245 orange trees, oL

how many apple trees aré there?

Ones|

Tens |

|Hundreds &1

" "
13

]
|- i I

By —

zero is at the tens place.

We cannot subtract 5 from 2. Therefore, we borrow
4 from the tens place but,

B
a So, we borrow from the hundreds place.
i N 8 Step 1
" N > Subtract the ones
e e — % % 1 .
Ul rees = [{__B’f @ﬂ? OL’%_J Zero is at the tens place. So,
Orange trees= — i 2] ’[ 4 5 we borrow 1 hundred as 10
o T tens from the hundreds place
Appletrees = 2| 5] |7 » | and carry to the tens place.

. ' —— — Then, we borrow 1 ten as 10
ones from the tens place and
carry to the ones place.

| 12 ones - 5 ones = 70nes |
Step 2
|, | Subtract the tens.
v 9 tens — 4 tens = 5 tens
Step 3
Subtract the hundreds.

4 hundreds - 2 hundreds = 2 hundreds

So, there are 257 apple trees in the garden.

o s

(%3 CamScanner
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1. Solve the following.

im0
1 4 3

H

5

WO | -

\loo_|

N[O
N
o
..

-2

e
(@) TN ;*’j_‘,l:

2. There are 658 passengers in a train. 269 passengers get pff the
train at a station. How many passengers are left in the train?

-,

b

Total passengers

Passengers get of

H T O

Passengers left
e

. ) 5

(%1 CamScanner
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_Addition and Subtraction in Mixegq Form

\_.______ g < e e e e -

Read the stories carefully. Solve the question by ideny;
operation of addition and subtraction.

Q Hint

Find the clue words to identify the
operation and solve the questions. |

1. There are 528 birds and
395 animals in a zoo.
How many more birds
are there than animals?

Tell total number of birds
and animals altogether
in the zoo.

2. Abookseller has 385

books. He buys 145 books
more.

Tell total number of
books.

He sells 265 books. What
is the total number of
books left with him?

40, " problems.

e T e S
S 58

fying the

Number of birds .

Number of animals DE
Number of more blrds = [:
Number of birds N:
Number of animals = DE
T
Number of books =*::f
Bought books =0 '
Total Books =

Total Books =
Sold books S
Books left - =

s

Hs Help the students to find clue words for the identification of correct operations in word

|
(%3 CamScanner
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SUbtractlon of Numbers usmg Mental Strategy

Subtract 10 from 26 using mental strategy. !

- 110 20| — [10] = [10
26 — 10 = 16

v %ﬁrSubtract 12 from 39 using mental strategd
39 12 30f — |10 = |20

7

39 — 12 = 27|

Subtract and complete the following using mental strategy.

a) 34| — |20 30 — =
4 — =
M - 12 = | |
b) 13 20 - =
\*:9- | L
28 — 183 = |

I 59 T

(%1 CamScanner
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N
P R R T o

|

: |

' L

c) 20 — 10 = d) 30 — 20 = 3)50‘3‘“@%

A 16 =10 8 g) 27 — 12 = h)se—":E’

i) 38 —17 = j) 42 — 22 = k)4g_14=E-‘

| Have Learnt .ﬁ ’ |

g ol i

+ to subtract numbers up to 3-digits “Vocabulary T
without borrowing. « Subtraction

» to subtract numbers up to 3-digits | . subtraction without bormowing |
with borrowing. * Subtraction with borrowing

« When subtracting 3-digit numbers, —
first subtract the ones, then tens and finally the hundreds.

» When borrow 1 ten as 10 ones from the tens place and carry to%

the ones place. ﬁ
* When borrow 1 hundred as 10 tens from the hundreds place
and carry to the tens place. *{‘f
* to use subtraction of 3-digit numbers in real life situations. =~ - |

Review Exercise s )

-‘\ .
1. Choose the correct option. , (& &t
i) In the subtraction of numbers, first subtract E%{ '
a) ones b)tens c)hundreds d) borrow L E{" ;
" _ ]
i) 500 — 300 = '\"-é‘;‘f
a) 100 b)200  c¢)500 d) 300 Ly
BX)

L "

e

|

(SR e gl 60
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i) 100-10= e e e A
et il fiesn sive 2025
a) 90 b) 99 c) 101 d) 110
iv) When any number is subtracted from itself, the result is
a) zero b)one  c) number itself d) greater number
v) 18-0= |
|
a)0 b) 8 c) 18 d) 108 |
2. Solve the following. ‘
T 0 T o] T o] T (o) !
5 3 8 0 7 2 9 6 |
i 8 &3 =vo 5 al 7 1 9 |
|
T 0 T | O T o] T (o)
6 1 5 1 4 9 6 8
e 3 7 3 9 -2 0 e 5 4
H | T|O H T| O H T| O
6 1 9 1 3 1 7 8 0
g2 o0 © » 5 = T sl
H Tl o H T!| O H T O
5 0 0 3 4 9 8 1 7

(%3 CamScanner
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H|T|O H
5 1 1 7
3 .l eaell o Bl

3. U;haf has 42 toys. He distributes 18 toys in his friends, Hoy many

toys are left with Umar?

Toys Umar has =

Toys distributed in friends = _

Toysleft . =

4. A factory produced 624 bicycles in a month. 435 bicycles were
sold. What is the total number of remaining bicycles?

Bicycles produced =

Bicycles sold =

Remaining bicycles =

5. Sana got Rs 850 as Eidi. She gave Rs. 375 to her youhger brother

Ahmed. What amount is left with Sana?

Sana got Eidi =
Eidi given to Ahmed =

Amount left with Sana =

many seats are vacant?

Total seats

Total passengers =

Vacant seats =

6. A train has 965 seats. If there are 780 passengers in the train, how
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Multiplication

‘.—“?‘"'“""-

f Loarnlng Outcomu

—_— L i i S

By the end of this unit, you will be able to:

There anaaﬁsh in each jar.
Totalﬁsh 3+3+3 9

Recognize multiplication as repeated addition and use multiplication symbol “x”
Complete number sequences in steps of 2, 3, 4, 5 and 10.

Develop multiplication tables of 2, 3, 4, 5 and 10 till the multiplication of 10 x 10.

Multiply numbers within multiplication tables.
Write number sentence for multiplication from the picture.
Solve number stories on multiplication up to 1-digit numbers.

s —- - =

(% CamScanner
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There are four friends. .g.. on S W 4,;

Can you tell how many hands the four friends have aItOgeghm

5 2+2+2+2 =8
We canread it as 4times2 = '8
We can write it as 4x2 = 3J
g+g+-a@+-@8+-a8-a@
5+5+5+5+5+5 = 30
6times 5 = 30

6 x 5= 30

. ‘4' x 2 =8 is read as ‘4 times 2
equals 8'.

” > ” o» ”+ ” +¢ » The symbol of multiplication

kIS X.

3+3+3+3+3 = 15 ;
5 times 3= 15
5 x 3=15

- For effective learning and teaching, use ‘Urdu or local language’ as medium of
instruction to explain the concept of multiplication.

+ Explain the concept of ‘multiplication as repeated addition’ using teaching aids -

o R i;

CamScanner
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ke
-

[ N
1. How many stars are there altogether?
4“;’ A 7:6-»3 .',._—\:X ‘_,\:-'—\ - \ A L..;. \ ',4. | " \
-~ L) [ Lead
Total stars=3+3+3 +3
= — times——
= e X —
= So, there are stars altogether.
\_ _ _/
~
2. How many ﬂowers are there in aII'7 o
Total flowers = + +
= __tlmes___
B i P et . :
So, there are flowers in all.
A\ 2 _J
e : e
3. Find total number of cherries.
A 1 A A
{ i / £}
% O % 0% % % %
Total cherries = + + + +
= times——
= X —_— ‘ . ;
» So, total number of cherries is—.
B = ' o

D 65 it

(%1 CamScanner
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K

4. Count the sweets. ' \

- ‘ d ﬁ‘d‘\-«-/ VR

)

. @y \ay “
Total sweets= + + - | Total sweets = —_——y
- times—— = afe llmes:
=— X | = x i
\ R J L = — g
~ e

dagiuy  Yeguy 00 uy Ay

Total sweets= — +—+ _—+. : Tofal sweets= —_+____
- times— | = — times____
- X —J— X —

¢ =— ) =—

5. Fill in the blanks.

20+ 26+ 2.4 2:+ 2.5 98 =2RD X2 - =EEed
4+4+ |+ [+4 +4 =6x‘f-i-,="§ ,

5+5+5+5+5

v-é 2
’h‘ii

Y g _.‘,:-
SRR S
SN nVE

+ + :
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‘Counting in Steps
Counting in Steps of 2

Let us count the c'her.ries by
counting in steps of 2.

N clalalelelolels

- 9000000009
~ 00000 CE8
QOO0 OODOD

2 00080
© @®

s
s
(3
(
(

2 4 6 8

+2 +2 +2  +2 +2 +2 +2 12 +2
So, there are 20 cherries.
e 10 times 2 = 20
We can write it as 10 x 2= 20

Counting in Steps of 3

A A A A A A A
+3 +3 +3 13 +3 +3 +3 43 +3
10 times 3 = 30

10x3=30"

Counting in Steps of 4
4 8 12 16 20 24 28 32 36A 40
+4 +4 +4 +4 +4 +4 +4 +4»+4

10 times 4 = 40
10 x 4=40

i
DR 67 R e
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‘
ounting in Steps of 5 .

C
5 10 15 20 25 30 3B 4 4
N N N N A N
45 45 +5 5 45 45 45 +5\+5—'

10 times 5 = 50
10 x 5=50

Counting in Steps of 10

10 20 30 40 &0 60 70 80

\j\J\J\J\J\)W 100
+10 +10 +10 +10 +10 +10 +10 +10 +10

10 times 10 = 100
10 x 10=100

.- Try Yourself |
Complete the following: S | y

1. by counting in steps of 2

@@@OOO0.0.

2. by counting in steps of 4

ololelclelelclolelc

3. by counting in steps of 5

©@®00®00080
e 8 T s |

(%3 CamScanner
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Table of 2

of 2

We can develop ‘the table of 2' by counting in ste;j

) ' L1’[im62 ] 1x2= 2
’0% | | [2timesZJ Ix2= 4
A A 1 »l - r | ;
09 % % o ST 3tmes2 | 3x2= 6
A i o | ~— "

09 % % % | (4tmes2 | 4x2= 8
Ai At o1 - 1

0p 09 09 09 %9 5times2 | 5x2=10
A A At A St i _ ﬁ )
‘6’&‘&%’6’& o 6times2 | 6x2=12
4 Al A 1 { A — ,

0y 09 0p 09 Oy 09 % 7times2 | 7x2=14
A A AT AT A A - ~

09 0g 09 0y Oy % % % 8 times 2 8 x2=16
{ { : ( :.‘ A ol A r—
%04%03%0&%%% (9times2 | 9x2=18
At LAl A 1 { A { { — ~

0% Op 0 Op 0% % % O O % | 10times2| 10 x 2 =20

@ ‘Make the groups of students and help them to learn the ‘2 times table’ using teaching aids
(chart, etc).

T T R R

(%1 CamScanner
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Table of 3

ﬁ - \We can develop ‘the table of 3' by counting in stepg of 3

4 | 1 time 3 1% 3 o 3
) & 4 i2time53ﬁ‘ 2% 3= 6;

¢

L 3.4 (3times3 ] 3x3. 4 °

”’!!’! . i4times3l 4x 3 =19

~\

”’!”’!” [StimeSSJ 5x3=15
55 5 8 & 1 Gtimes3 | 6x3=18
’!”””"’!’! :7times3: 7x3=2

3 533443 Btimes3 | 8x 3 =2

w

!’!’!’!’!’!’!’!’! :9times3: 9x 3=27
’!’!’!*”’!’!”*’! L‘IOtimesSj 10x 3=230

e, el
P, P

/P . Make the groups of stud | s
“: ) (chart, i ents and help them to learn the ‘3 times table’ using tawh‘nﬂ‘d‘

— ST v e

>

(%3 CamScanner
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Table of 4

&

v %We can develop ‘the table of 4’ by counting in stepej
of 4.

-~

£ L %
£ L
24

13
13
'
£
£

WRRLRY
A H T
AR

2 R L R L L LR
v £EELELER
7
7
7

A
\

)

)
« aids (chart, etc).

e ———————————————————
R

| S

timed | 1x4 = 4
2timesa | 2x 4 = g
étimes4j_ 3 X4 =12
;4times4j 4 x 4 =16
:Stimes; 5x4 =20
Lﬁtimes; 6 X 4 =24
L7times4ﬁl 7 x 4 =28
LBtimes4i 8 x4 =32
L9times4T 9 X 4 = 36
10 times 4]10 x 4 = 49

Make the groups of students and help them to leam the ‘4 times table’ using teaching

(%3 CamScanner
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. Tableof5

, ' ] ’“‘\.‘
[L We can develop ‘the table of 5' by counting in steps °f5

e B —

m jtimesj 1% 5=.:
88 2 times Si 2x 5= 1)

)

B8 3times5 | 3x 5= 15
BE8a | 4times5 | 4x 5= 2
gagaa 5times5 | 5x 5= 25
geasaas 6times5 | 6x 5= 30
EEgaaas 7times5 | 7x 5= 3
BEEEABBE8  (simess ) sxs5-4
BEABBBAAAEA (simess ) oxs5-4
BEEGEAARAAA (10mess)10x 5=

S wyﬁ‘“\f"

Make the groups of students and help them to learn th thn “""-_*.
@ aids (chart, etc), gl Stlmeu tab[e uslng m i)

72
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]

s

.

We can devélop ‘the table of 1
of 10.

. Tableof1g

0 by counting in steps ’

sus
R

gﬂig’iﬁ ih
ST

g
el
e it
0 e e

@ Maka the grou
(chan etc)

1 time 10 |

[ ™
2,ti_mes 10

3 times 10

i )
4 times 1 OJ

é times 10

6 times 10

—

7 times 10

-

8 times 13
T - ¥

— , ;
_gtimes 101 9 x10= 90

1x10= 10
2x10= 20
3x10= 30
4 x10= 40
5 %10 50
6 x10= 60
7x10-= 70

8 x10= 80

lo times 1'0T

J10 x 10 = 100

ps of students and help them to leam the ‘10 times table’ using teaching aids

- 73 R |

|
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Multipllcatlon of 1-d|g|t Numbers

e
There are 4 flowerpots in my lawn. Each ﬂowerpot has P A

J:, y. 13 ﬂowers How many flowers are there altogether?
a 4 )
3
2oy -
0 4x3-12
Y can be written as
4 '
X 3
. 12 )

o Reaawth‘;t_aﬁbulé of 3 u‘pmto 4, we 'get"1;2". e
— Now, we will do each multiplication operation
with the help of multiplication tables.

So, there are 12 flowers Cl i
altogether. (l-tue Words for Multiplication

“ Try Yourself L Product 1 In all

SRy S0

If there are éuﬂ.;v;emots how " Times
Lnany flowers are there altogether? L ] | Altogether |
3 P,

5
t.. Explain to the students to solve real life problems related to multiplication using clue wdrdsf

S« |

(%3 CamScanner
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1. Match the following.

&) (&) (&) () ()

(% CamScanner
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=

o —————

7 x 4

L ——

2. Complete the multiplication tables.
3. Multiply and fill in the boxes.

1

4. Multiply the following.
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-

5. There are 6 cats. Each cat has 4 kittens. How many kittens are

there in all?

L -~ - *

T e e e,
X

i
i
|
!
i
|
i
\

6. If each flower has 9 petals, how many petals are there in

10 flowers altogether? 9

e

7. How many wheels do 4 bicycles have? If one bicycle has two

wheels.

-,____.....-—" '-

A )\ \‘\,,, ‘ , y

8. What is the total number of legs of 5 octopuses? If one octopus

has 8 legs.

(% CamScanner
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- to recognize multiplication as repeated
addition.

- to use symbol ‘x’ for multiplication. -

- to count in steps of 2, 3, 4, 5 and 10.

. to read and write the multiplication tables of .

2,3,4,5and 10.
. to multiply numbers using multiplication
tables.

- to use multiplication in real life.

eview Exercise

>

———

Repeated
addition
Multiplication
Counting in steps

1. Choose the correct option.

i).2+2+2+2=

(@) 2times?2 (b) 2times4 (c)4times2 (d) 4 times4

ii). 3, 6, 9, 12,

(a) 13 (b) 14 (c) 15
iii). 10 x 5 = |

(@) 10 (b) 15 (c) 25
iv). 7 times 3 =

(a) 12 (b) 15 (c) 18
v). 4,8, 12, i6, _e 24

(d) 16

(d) 50

(d) 21

_ -
CamScanner
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2. Count the balloons.

333333 »Pe0

Total _ __ 4+ 4+ 4 4+ 4 Total  _
balloons _ balloons ™
= ——times = —times
X = X

Total _
balloons

f

ﬂ PP @
§ ] L ¢ RS " q EU %4 L
¥ / . { £ { {

+ + Total _ __ 4+ 4+ 4+ 4+ 4
_ balloons
times = ——times
= X

X

3. Complete the following.

(i). by counting in steps of 3

0]0]0]0]0]0]]e]e]C

(ii). by counting in steps of 10

OloJe]e]C]e]e]e]e]C
e 79 Lo ool

(% CamScanner
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S .

4. Match with the correct answer.

Qf

@\

/
|

5. Multiply the fbllowing.

09 x 30
05 x9 0
06 x 100
07 x80
o.6x2f)
010 x 20
07x30
08 x40

09 x%x2o0

010x 100

» 4

[N

CamScanner
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e .

6. There are 10 pencils in a packet. How ma ' :
4 packets in all? ny pencils are there in

———— ("‘ P et

. >

7. If each vase has 8 flowers, how many flowers do 3 vases have
altogether?

. I

8. There are 5 oranges in a basket. How many oranges are there in
7 baskets in all?

N ( 0
% - : TS

9. There are 7 birds sitting on the branch of a tree. Find how many
legs these birds have altogether.

. ™

(% CamScanner
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Division
i TR el s 2 N
%jéf Learning Outcomes
i éy the end of this unit, you will be able 10:
b i ivisi bols +.
_ » Recognize and use division sym _
ize divisi i traction.
. nize division as successive sup : i
i . g:n?:g numbers within the multiplication tat:les; w:h 'rter:?:rlirt‘)i:; zero. A )
T . il - digi S. ! i :
. ber stories involving division up 10 % . i
. go:ve nuTIife situations (using Pakistani currency as well) involving addition, subtraction, il
liniica for choosing the correct operation. 1

multiplication, and division. Give reasons gt op RTATEN
: — | |OPEN|

\

i A (Let us put 12 biscuits
in 3 boxes equally.

How many biscuits will be
there in each box?
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e L T

Division as Successive Subtraction

| have 6 balloons.
| shall distribute equally
among all chlldren

: " Father brlngs balloons‘
for us. )

-

6-3=3
3 balloons are left with the father.

Again, the father gives more 1 balloon
to each child.

Now, each child has 2 balloons.
3-3=0

0 balloons are left with father.

So, each child gets 2 balloons. Subtracting 3 two times
(‘) from 6, we get 0.
@ Q) 6-3-3=0
~ - For effective learning and teaching, use ‘Urdu or local language’ as medium of

Qg instruction to explain the concept of division.
* Demonstrate the concept of successive subtraction using teaching aids.

83 [

(% CamScanner
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Divide 10 apples in 2 children using

successive subtracting.

idi‘w v

C LX) ~ 2 — First time

(ﬂ - :——a Second time
ﬁ@ :

— 2 —— Third time

4
— 2 — Fourth time

2
— 2 — Fifth time

v‘j' ‘

I 80P
-+

10—2—2—2—2—2=g
Subtracting 2 five times
from 10, we get 0.

So, each child gets
5 apples.

Dlwde 20 eggs in 4 children
using successive subtraction.

20
= ot

0

Subtracting___times 4 from 20,

we get 0. So, each child
gets___

€ggs. gets

Divide 12 balloons in 3 children
using successive subtraction.

Subtracting__
we get 0. So, each child

ﬁ\

12
BA ke T

times 3 from 12, 1

balloons
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e LS e e
Division '

P ——

=

f | want to dlstnbute 8carroIs
3 equally among 4 rabbits.

) - WS p—
£,
ive 1 carrot to each rabbit. L/_, N 4
lgw Total carrots = 8 ¥y
by v e w A v A L - _4 -
¥ U ‘- ¥ f divided il
< :.;-L.. L;w-. A L,L_‘ Carrots left = 4
A | J
~
| give 1 carrot to each rabbit. Remainin
b, | g — 4
\\!,f . PR W #F W i - CaITOtS '
NS/ Rt Ry el GCarrots
. @ j ) & Q ARt = - |
¥ A}f A divided -4 !
45N SN /.l.: :’ ;.\'{' A ;
LY S Y Carrots left = 0 ‘
[ [l A - J
.
8-4-4-0 Recall the table of
; el 4’ up to 2. >
Subtracting 2 times 4 from 8, T Dud 8 AR
we get 0. <5 !
We can write as,
8+4=2 w \
« Divisionis a f
successive {
su_btraction. = R I
SO, ofich rabbif gets 2 carrots. i + The symbol of division is "+ i
i " f ‘di\'/isi;;as successive subtraction’
s Divide the children in groups. Explain the concept o idon
aI ) using concrete objects. Let them practice by changing objects and number of children in
'w.-.‘
_the groups.
e
. - .00
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1. Put 15 flowers equally in 3 vases,

Total flowers =

Total vases =

Flowers in each _
vase

- Total pencils
Total boxes
Pencils in each box  _ ]

3. Divide 20 ice-creams equally in 10 children,

Total ice-creams ~ _ - | Qil-lint o
Total children 3 |

Ice-creams each p
child gets
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R
s

4. Solve and fill in the blanks.

oI

So, each group has

palloons.

= 2

2

0999

i

-E- 5 =

So, each group has

multiplication
Qe tables.

00000
balloons. | QQQ‘Q
00000

u|+[4] =

So, each group has

9000 0000

balloons. ‘QQ? ﬁQQO '
9900 9600

9OPO00
OO0
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5. Solve the following.

Whéh any number (except
zero) is divided by number
itself, the result is 1.

6. Sara distributes 21 cupcakes equally in 7 friends.
How many cupcakes does each friend get?

7. If we put 32 oranges equally in 4 baskets,
how many oranges are there in each basket?
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Mixed Ndmber Stories

Clue Words for Clue Words for
Addition | Subtraction |

« Total + Left
« Altogether « More than
e Inall - * How many less/fewer
« Sum ; * Remain
_+ Added to + Difference

Clue Words for Clue Words for

Multiplication : Division
» Product .

How many will each get

« Times * How many in each

« Inall group

 Altogether « Shared ‘ |
+ Divided |

\ s Equal/equally

Ly i,

Solve the mixed number stories using following steps.

B l
Step 1 T‘EH R_ead the problem carefully. l

oy i

Step 2 RUnderline the clue words to identify the correct operation.

Step 3 F{Draw a picture, if needed.]

Step 4 Write a number sentence. ]

[P, om| et A AE
\PJL_SoIve the words problem 1 L‘ YRS el
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Read the following word problems carefully. Solve the Proble

the identification of correct operation. Write reason to chooSB":thilh

operation.

. Atailor stitched 65 suits in the first month and 58 sujtg i, th
1 sl:c?md month. How many suits did he stitch altogether?

e —————

gShtched suits in the
first month =

i

| Stitched suits inthe _
‘i second month
i
1

—
-

e ft-..{ P
LY Reas iy

A= " Clue word s alto

S So, we add. Qether

2. Ahmed has Rs. 500. He buys grocery for Rs. 225, How much

amount is left with Ahmed?

- .
.é' b "\\

= P Tellthe
W Reasonlt
Total amount = 1 ; ;\} Npbiil
A & P :
Costofgrocery = L1 % Clueword is

So, we

—

3. Ahmed has 5 books in a bag. How many books will be therein

6 such bags? JBR_
- gsum.x;@; 1

SR Reasond
Books in bag = ' “;{3 K,_t_.};T&;J . |
] k\ = " Cluewordis |
Numberof bags = Iy ke —
Sl e , af

4. Divide 27 bananas in 3 monkeys equally. ...

B Tell the & = =

Total of bananas =

=Ll

Total of monkeys

—

%’ students how to solve the words problem.

m Help to the students to identify the correct o

S W Reasond L
(0.0 & : |
- |
\\ Q) Clue word is 5

‘So, we P

peration using clue words. Explaintothe

00 R
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Vocabulary

subtraction. |
- to use symbol ‘+' for division. l. Divide
- to divide using the multiplication tables. § Successive
- when any number (except zero) is | subtraction

divide by number itself, the result is 1.

- when any number is divided by 1, the
result is number itself.

- to use division in real life situations.

% 4 P x,_" Y WEBIG « ',;‘,‘
. Review Exercise Sl

1. Choose the correct option.

i. Division is a

(a) equally add (b) repeated multiplication

(c) successive subtraction = (d) repeated addition
ii. The symbol ‘+’ is used for

(a) addition (b) multiplication (c) subtraction  (d)division

iii.100 = 10 =

(a) 101 (b) 100 (c) 110 (d)10
iv. When any number is divided by 1, the result is

(a) zero (b) one (c) bigger number (d)number itself
v.5+56= |

(@) 0 (b) 1 (c) 5 (d)10
e T TR R e L S s LT
B o 91 e

e - e .

(% CamScanner
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2. Complete the following.

------

|
3 :
\ e g

3. Divide 10 pigeons in 5 groups equally.

\ S

-"!\/\h ‘H\
2 Q..x»cw,( P

4. Divide 6 toys in 3 children equally.

@@!@3

9. Divide 8 balls in 2 teams equally.

DOBRO®

6. Divide 12 rings in 4 girls equally.

5055525500000

NP :c»’”tvsf*%.

<

CamScanner
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b e Dl SRR O

4. Solve the following.

5. Al distributes 30 chocolate equally among 5 friends. How many
chocolates does each friend get?

e e e e e =]

So, each friend gets ! chocolates.

6. Ramsha distributes 20 suits equally among 10 children. How many
smts does each child get’?

T ":—-—--—r ..4.,._,,,.‘}.__ RSN

b AR e B
Y . ¢

44 L
ge IRy v\,\,w.,"_f ?')" -'7- v

So, each Chlld gets suits. ST S e 2025

ﬁss_

CamScanner
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Fractions

Learnlng Outeomu

By the end of thlS unlt you will be able to:

- Recognize fractions as equal parts of a whole.

- Identify half, one third and quarter with the help of objects and figures(without writing 112, 1

- Represent half, one third and quarter in numerical form (1/2, 1/3 and 1/4). - 13, s
- Shade the equal parts of a given figure to match a given fraction.

- Recognize and name unit fractions up to 1/10.

- Recognize fractions like two thirds (2/3), three fourths (3/4), four fifths (4/5), up to Nine tenths 1

Amna

Amna d|v1des her blrthda cak : i
lees to her friends. A lnto three equal parts and

B ———
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Fractions

Equal Parts
| have divided
| have divided a a cake into
cake into two two parts.
parts.
- S
@

Who has divided cake in equal parts?

These are equal - These are unequal
parts because the | parts because the
shape and size are J shape and size are

the same. not the same.

Equal parts have the same shape and the sizg

T For effective teaching and learning, use ‘Urdu or local language' as medium of
§  instruction to explain the concept of fractions.
* Demonstrate the concept of fractions using teachmg aids (pieces of paper, chart, equal

wooden parts, etc).
M s
CamScanner
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| e AR i
following shapes.

TN L

—1
P
\ L]

«M

Observe the

Shapes which havD\ Shl?gles vrvthiCh have
unequal parts J_\ ’Leq parts g

o

" Try Yourself -

1. Tick (+ ) the following objects that are divided into equal parts.

0) (i) (i %

‘. ‘\“l } * \)

E 4
-

2. Tick (v') the shapes that are divided into equal parts. :

D e — __
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S

: . | have divided the pizza
& x into two equal parts.

Two eq'uél parts

One-half

When something is divided into two
equal parts, each equal part is called Key Fact ———

one-half. ' Two halves together make
a whole.

Colour one-half of the shapes that are divided into two equal parts.
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Quarter

be & \_J | have already divided a pizza into two 5
"~ 7 equal parts. Now, it is further divided into |
S— more equal parts. :

i e e A e At

| i | .‘ Gz %5}"

Whole pizza Two eqUaI parts Four equal Parts

One-quarter ‘ﬁ ﬁ‘ One-quarter
One-quarter- % y | One-quarter

When something is divided into four /s
equal parts, each equal part is called - =5 houg £ Rl

one-quarter. Four quarters together make
a whole.

. Try Yourself

Colour one-quarter of the shapes that are divided into four equal parts.

1N Y

N

Explain the concept of one-quarter using teaching aids.
G :

e BT

)
7

i
1 e

(% CamScanner
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My father brought a cake. | divided the
cake into three equal parts. Then, we ate

the cake. The cake was delumous

-ul Wiffa e

LALA&

Whole cake
: o 1, s [
. =R r’:-f'» .
One-third Ay
P Rn—— P g i i
One-third

When something is divided into three
equal parts, each equal part is called

one-third.

e

One-third

Three thirds together make a
whole.

Colour one-thlrdlof the shapes that are divided into three equal parts

i

99

@ Explain the cdﬁbépt of one-third using teaching aids.

(%3 CamScanner
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“

~ Fraction in Numerical Form

pu—

A triangle has two equal parts. One
ﬂ part is coloured which represents
@ one-half. It is written as -

A circle has three equal parts One
part is coloured which represents |

\one-thlrd. It is written as :13

{'A square has four equal parts. Ona

4

‘ part is coloured which represents
> one-quarter. It is written as -

— i

(M__ Try Yourself ):

Colour one part of each shape and write fraction for the coloured part.

3() BA E

BOD 59 8P

 Students have leart the concept of fractions, So, explain the numerical form of fraction

%,mw and tell them how to write fractions.

—100—

(%3 CamScanner
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Fractions 1 to 1

5 10
2710
Figure ame of |
of parts Fraction | Fraction
Half 1
: 2
3 One-third 1
3
4 | One-fourth %
5 One-fifth 1
‘ 5
6 One-sixth 1
6
yé One-seventh .%..
' 1
8 One-eighth 3
One-ninth 1
i 9
1
10 One-tenth 10
—
S Gl
Ean two quarters together make a whole?]

P Explain the fractions (- to ) by drawing figures on the board (or by using flashcards
% Or charts).

e 101 [ e
- Cs
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A=)
1] 1

bl O -
N

2. Colour one part of each shape and write fraction for the coloured.

= 0B DA
0S8 066 Dum
U O

1
3
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“More About Fractions l

P —— - " _

(@, B

Four-fifths

Seven-eights

oo
e e e T ™

S
10
| "
Eight-ninths Three-tenths Nine-tenths
)
: Number of coloured parts
% Fraction =
: é Total number of equal parts
J‘ . o

Ask the students to learn the names of fractions us

etc) and also explain with figures.

ing teaching aids (charts, flashcards,

e I

(%81 CamScanner
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Equal parts have the same shape and the | = Vocabulary
S, e, Fraction |
When something is divided into two equal One-half

parts, each equal part is called one-half, One-third

We write it as -;— . One-uaries

Two halves together make a whole. T ———

- When something is divided into three equal parts, each equal
part is called one-third. We write it as -1 |

. Three thirds together make a whole.

- When something is divided into four equal parts, each equal
part is called one-quarter. We write it as 1.

- Four quarters together make a whole.
. Fraction = _Number of coloured parts

Total number of equal parts

1. Choose the correct option.

i. One-quarter is written as

3 il
@) - OF (©):
i o F
3 A e 4
(@) 3 (b) 7 CF (@)
lii. Equal parts have the same shape and the same

(@) length  (b) size (c) colour (d) width

\___ —————————————————
s

| —

(8

CamScanner
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ATR
'\‘.{
vi. is called four-fifths.
(@) & (b) ©) 5 (d) 5
v _ Number of coloured part_
" Total number of equal part
(a)Half (byone-third  (c)Quarter  (d)fraction

2. Colour the shapes that are divided into halves.

S DA

3. Match the cloured shapes with.the correct fraction.
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4. Look at the fraction and colour each shape.

5 BA 8>
AVAVA _% aAYAY
VT e

5. Write the fraction for the coloured part of each shape.

OHmt

\-_._.

Count the coloured parts and wrlte the fractlon |

7 € ottt S S st —’
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Measurement
Length, Mass and Capacity

Learning Outcomes

By the end of this unit, you will be able to:

Compare the lengths of different objects.
Recognize the units of length (metre and centimetre).
Use standard metric units of length (metre and centimetre) and their abbreviation to measure and

record lengths of variety cf objects.

Use addition and subtraction within 100 to solve real life situations involving lengths in same units.
Compare the mass of different objects.

Recognize the units of mass, i.e. kilogram, gram.

Use standard metric units of mass (kilograms and grams) and their abbreviation to measure and
record mass of variety of objects.

Use addition and subtraction within 100 to solve real life situations involving mass in same units.
Compare capacity of different objects using nonstandard units (jug, glass, cup, etc.).

Recognize and use the standard metric units of capacity, i.e. litre and millilitre. 3

Use addition and subtraction within 100 to solve real life situations involving capacity in same units.

My mother is taller than I.
Is there any instrument with
which we can measure our
helghts‘?

5 N o 4 "‘"‘\,,A.-_ o

N P v eSS .
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Jue™ c_.z\.;ﬂ; }./F(‘Jf:l}
| Length ;J,)Jr;cmf__d»J({bg 2025

JHow much |onger |s

_“the door than the % ":*.';

iwmdow? ~ g

'How can we find? ! oy q
To measure the exact length of objects we need 1
the standard units of length.

Metre ; !

R i

Metre is the standard unit of Iength The symbol m' is used for
metre.

0_10m 20m 30m 40m 50m 60m 70m 80m 90m A

The length of tree, pole, almirah, door,
window, etc are measured in metres.

Key BRELy ———————

the length, width and height of longer i

e ) ESSSEASS  R — >

objects are measured in metres

ALY

p 'i’ For effective teaching and learning, use 'Urdu or local language' as medium of instruction
’4;"@# to explain the concepts of measurement. |
(1]

T 109
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'How much longer is the blue

- 'i\\pencil than the red pencil? m

Can ‘we use melre scale to measure the %

length of a pencil? o
' No, let us learn how to measure the |
\length of short objects.
Centimetre

e L4 2 L4 r T L 'T'r'rrr -

Centimetre is also the standarq o R 5 ™
unit of length. The symbol 'cm' is bbbtk ettt
used for centimetre. \

The ruler is divided into 15 equal
parts. The length of each part is 1 cm.

The length of pencil, notebook,
chocolate, etc are measured in
centimetres.

\ N

pad

The length of chocolate is 8 cm. !

L "T['l'r"r—r-'
0
! L

L]
9 10 M 12 13 14 18
]

.l.!;l.l.l.‘

II"['I'
1 2 3 4
hekadadalon ]

« Centimetres are used to measure the lengths of short objects.
« 1m =100 cm ‘

. Class Activity -

Measure and record the lengths of objects which are in the
classroom using metre rod and ruler. '

Length of the longest object in the classroom =
__Length of the shortest object in the classroom = i}

notebook, etc) using ruler.

To perform the classroom activity, measure the le ths of obj - '
notebook, pencil, etc). oo objects (board, door,

Q * Help the children to measure the lengths of short objects (pencil; eraser, sharpener,
iy pe

110 ﬁ '
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1. In the following objects, which will be measured in metres (m) and
which will be in centimetres (cm)?

i. The height of a tree

ii. The length of your notebook

iii. The length of school bus

iv. The height of your home

V. The length of your lunch box

Vi. The length of a door

e N L
(e | 11

B
CamScanner
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2. (a) Write the lengths for the given objects.

i. The length of the pencil

ii. The length of the key

iii. The length of the Sslo——Mi
toothbrush

1M 12 13 14 15
Skl s L 22

iv. The length of the
eraser

(b). Read the lengths of the above objects and fill in the blanks.

i. The pencil is Iongér than the

| - A ~ o= Try Yourself

ii. The toothbrush is longer than the Ve Sohoct bl
find an object which

iii. The key is shorter thanthe : is smaller than your
eraser and measure

: : - its length.

iv. The eraser is shorter than : > £/

3. Measure the lengths of the following objects using ruler.

cm
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TP

(1 have a 25 cm Ic?ng red ribbon and a 18 cm lon

| green ribbon. What is the total length s
of both ribbons?

e e At e eSS Y et A B S——

e

| ©)
Length oftheredribbon = 25cm
| Length of the green ribbon = + 18 cm
Total length = 43cm
L -~

So, the total length of both ribbons is 43 cm.

o o :‘J Also tell which ribbon is Ionger and how mucrﬂ

r | @@W

| Length of the red ribbon = Z5cm
f Length of the green ribbon = -18cm
; Difference-in lengths = 7cm )

So, the red ribbon is longer _
The length of the red ribbon is 7cm longer than the green ribbon.

Observe the following.

Ca. 7 ( em. |
53m 72cm
+ 29m - 34 cm
82m 38 cm
F e : W,

' - Addition and subtraqﬁgn,of lengths are same as addition and subtraction of whole numbers.
1‘:‘? Tell the students to write the units of length when adding and subtracting the lengths.

113
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Exercise 2 \@ '

1. Solve the following.

[ tom } T 1am ) e (50
+39cm +17
+ 8m +16m \Cm
N I v .
([ 48m ) [ 67em) [ 79m ) (89
+ 12m t 8
+43m +27cm cm
_ ) L J J N T
2. Solve the following. .
(15m ) (" 28m ) ( 57an)) [ 40cm )
- 6m - 12m - 28cm -13cm
e, 8 B R AR J
[ 71m ) ( 69em ) ( 85m ) [ 98em)
- 32m | | -19¢m - 58m —29¢cm
N \ A A Vg Y
3. Nadia bought 18 m of white cloth and 15 m of [ i
green cloth. How much cloth dig Nadia buy
altogether?
So, Nadia bought m cloth altogether. \__ y,
( )
4. The length of Ahmad's lunch box is 24 cm ang
the length of his brother's lunch box is 18cm.
Which lunch box is longer and how much? o )
So, lunch box is long and long in length.
IR N T e e e u_.ﬁ ——j} 114 [;—" ‘:. ﬁz :
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Mass

How much heavier is the
flour bag than the
watermelon?

How will we find?

To measure the accurate mass of objects, we need \ ’
the standard unit of mass. Y

 Kilogram
The standard unit of mass is kilogram. The symbol 'kg' is used for
kilogram. It is used to measure the mass of heavy objects like
flour bag, watermelon, etc.
To measure the mass of heavy objects,

we use different type of balances and
weighing machines.

Kilogram is used to
The mass of s | Ineasure the mass of
kheavy objects.

watermelon is 6 kg.  is 10 kg.
So, the mass of flour bag is 4 kg more than the watermelon.

I’ Measure the mass of classroom objects using weighing machine and teach them using
“me?  participatory approach.

W 15
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«
‘

[ The book is heavner than the pencnl
| How much heavier is the book?

' How can we flnd lt’?

Let us learn how we measure the mass of
lighter objects.

———

et ——— i

Gram

Gram is the standard umt of mass. The symbol g' is used for gram,
It is used to measure the mass of lighter objects like pencil, biscuit,

etc.
To measure the mass of lighter objects, we use different type of
balances and weighing machines. : >

.Thﬁe mass of biscuit . . Gvramm is used o measure the |
pack is 300 g. | mass of lighter objects.
'+ 1kg=1000g

Measure and record the mass of school bags of
students in the classroom using a weighing machine.

The mass of the heaviest school bag =

The mass of the lightest school bag — . y/-

L

W TR 116
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and which will be measured in grams (g)?

i. The mass of a biscuit

i. The mass of apples

iii. The mass of a chocolate

iv. The mass of a pencil

v. The mass of a sugar bag

2. Read and write the mass.

=

1. In the following objects, which will be measured in kilograms (kg)

Read the mass of a melon and salt.

Which is heavier? V}Irite its name.
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Addition and Subtraction of Masseg
e:

My father bought 20 kg of
apples and 15 kg of guavas.
What is the total mass of fruit?

f Mass of the apples = 2 ¢ kg
Mass of the guavas = +1 5 kg

The mass of fruit - 3 5kg 5
\_

- S0, the total mass of fruit is 35 kg.

@ Z&hich fruit is having more mass and how much?,
o/ .

&

Mass of the apples = 2 kg &
Mass of the guavas = —1 5 kg

Di . 2 |
¢fference In mass 5 kg :

So, mass of the apples is 5 kg more than the guavas.

Observe the following.

CamScanner
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Ny

+
w
(o))
«Q «
+

N
\l
«

+

(o]

P

«Q

i 1 8 kg . 35 kg 4 2 g 6 0g
- 9kg - 23g - 25g
6 7 kg § 51g  88g 9 9 kg
- 29 kg ¢t—-22¢g - 4090g — 3 6 kg
' ]

3. Maryam bought 60 g of red pepper and 35 g of
black pepper. Tell the total mass of both peppers.

So, the total mass 6f both peppers is

4. A grocer buys 85 kg of potatoes.
He sells 48 kg of potatoes. How much potatoes are left?

So, of potatoes are left.

TR w119 [ e e |

(% CamScanner
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J | fill three glasses of water with a jug.
a

The jug holds more water.
The glass holds less water than the jug.

\{’ / The Iarger the cdntainer, ‘

’ ‘ the more capacity itwill =~

The basket holds more water than the bowl. | ave- ;8
iy

‘W Demonstrate to the students to fil glasses of water with a jug.
‘r}&m ' different containers.

1

—”}
i

(% CamScanner
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. Standard Unit of Capacity

J A teapot holds more tea

AT -
Yo sl than a cup. How can we
e

., find, how much more tea

the teapot holds?

— e/

To measure accurate capacity of the containers, we need the
standard units of capacity.

Litre

Litre is the standard unit of capacity.
The symbol ‘£’ is used for litre.
Water, milk and petrol are measured
in litres.

P i C T

e

REY:
FT T
O

e

T
ai‘"ﬂ/
.

Millilitre

Millilitre is also the standard unit of capamty
The symbol 'm¢' is used for millilitre.

Itis used to measure the capacity of small Y . e
containers.
The capacity of glass, cup, etc are measured
in millilitres. ‘
hrerFact
» The capacity of large containers are
measured in litres and the capacity of
small containers is measured in millilitres.
L' 1£=1000 m¢ SV
e e ——— R
IR 121 e e |

(%] CamScanner
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Exercise 5

1. The capacity of which containers can be measure

dinlitres (), &
which will be in millilitres (m?)?

i. The capacity of a tub (

ii. The capacity of a cup

iii. The capacity of a spoon

iv. The Capacity of a jug

>
-
v. The capacity of a inkpot @

2. Encircle the containers that have capacity in litres.
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Addition and Subtraction of Cahadfy

P ——

— | live in a village. My cow
‘| gives 12 ¢ of milk in the
morning and 9 ¢ of milk in
the evening. Tell how much

milk it gives in one day.

-

J

[ . TN

The quantity of milk in the morning= 1 2 ¢

The quantity of milk in the evening = + 9 ¢ :
Total quantity of milk = 21¢] I
k : 5

: —
R ‘f‘:;-‘ A s g

So, the cow gives 21 £ of milk in a day.

——eaTE—

| know, my cow gives more milk
AP in the morning. Tell how much
e/ more milk it gives.
&5

The quantity of milk in the morning
The quantity of milk in the evening = 9 ¢

121¢

MR R

' L Difference in quantity

So, the cow gives 3 ¢ more milk in the morning.

Observe the following.

o Addition and subtraction of capacities is same a
3=~ numbers. Tell the students to write the units of capa

capacities.

d /
R 12> [

s the addition and subtraction of whole
city when adding and subtracting the
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1. Solve the following.

} 22mt‘l} 3 8¢ , 40m£4‘ 5 4mf
{,14m. ¢ty 151 bp18ml §4 37m
1¢ | 65mi | 8 - 4 9me

]
{,19¢ | $425m §4 1 L Y4 49m
: . o fo &
L R X J L J

2. Solve the following.

— 1 (. z :
o 1ime | 200 (| 32mi| 5 5ml
t- omel §_12¢ | §_13me} §_26m,
{ P | 1 '
| o - B
| 73¢ 1" 67me | | 81¢ [ | 9 omt |
<_48[J.‘_28m[;1'—59£§{>_45mt$
= 11 E s

3. Irfan put 18 £ of petrol on Monday and 14 ¢ of |

petrol on Tuesday in his car. How much petrol

did he put in his car in two days?

4 A fnilkman bought 75 £ of milk and sold 68 ¢ of
milk. How much milk did left with him?

(TR WG |

124
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o ) J‘fv'h f--«bJuw_/ﬁ(“j;w}
,.:_..,h/Jsr,,:;_dA,d’f—" 75 32025

. tocompare the length of different

objects.  Vocabulary
. to recognize the metre and centimetre '+ Lengi
as -+ Metre ’
the standard units of length. ., Centimetre |}
. toadd and subtract the standard units | M,ass !
of length. | Kilogram ,=
- Gram
K to use the standard units of Iength in ' . Capacity
real life. . Lie
« to compare the mass of different - Milliltre "
objects. ‘

« toadd and subtract the standard units of mass.

« to use the standard units of mass in real life.

« to compare the capacity of different objects.

« to recognize the litre and millilitre as the standard units of
capacity.

« to add and subtract the standard units of capacity.

« to use the standard units of capacity in real life.

1. Choose the right option.

i. The height of a tree is measured in

(@) millilitres ~ (b) litres (c) centimetres  (d) metres

e ——
. 125 0 e T

(% CamScanner


https://v3.camscanner.com/user/download

R T T iy

i The standard unit of capacity is

(a) metre (b) litre (c) gram (d) kilogra,

iii. The symbol of kilogram is

(a)g (b) m¢ (c) kg (d) m

iv. The length of short objects is measured in

(a) millilitres (b) centimetres - (c) grams (d) metres :
v. Kilogram is the standard unit of 3
(a) length " (b) width (c)capacity  (d) mass .;

2. Tick (v') the suitable unit to measure the following objects.

[The mass of chips packet

J L

The length of geometry box

J L

The capacity of a water tank

The height of a pole

'

The mass of a chair

JU L

o

3. Solve the following.
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4. Solve the following.

65mi) | 93¢ 91 m
l_s56mt| {_47¢ ] {_ {_22m
1‘___

’,
f
{ Ji‘ Jq j<‘ J

B p— D e

5. A shopkeeper bought 80 £ of ice-cream. He sold 52 ¢ of ice-cream
in a day. How much ice-cream left with him?

(o0 e ' R

o N
o N
X
«Q «

6. The mass of a wheat bag is 15 kg more than a rice bag. If the
" mass of the rice bag is 48 kg, then find the mass of the wheat bag.

o

\_

7. The length of a red wire is 90 m while the length of a yellow wire is
72 m. Which wire is longer and how much?

R &
— P ‘\_77 ,4
3 N
o ey B
S?' wire is long.
It is — longer than the wire. -

e ———
M 127
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5 } Time -

Learning Outcomes

N L
By the end of this unit, you will be able to: i i
Recognize the number of hours in a day and numbers of minutes in an hour, o B
Read and write the time from a clock in hours and minutes (with five-minute intervals), ¢,
Recognize a.m. and p.m. Wiy
Draw hands of a clock to show time in hours and minutes (with five minutes intervals), A
Use Solar calendar to find a particular date/day.
Use Islamic calendar to find a particular date/day.

Amna goes to school at
7:00 o'clock in the morning.

. She does her homework at
S o'clock in the ‘evening.

Is there any difference in
writing the time of morning
and evening? -
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Hours and Minutes

Ahmed takes breakfast

and goes to school.
Can you write the time of

the clock?

Let us together, write the

time of the

Look at the clock carefully.

divided into

parts. The big part is
further divided into 5
equal small parts. One
small part represents

one minute.

The dial of the clock is

clock.

The dial of
the clock is
divided into 45§:
60 equal

small parts.

12 big

h,

/

60 minutes = 1 hour

24 hours

e

. @ y -
@ | The minute hand moves from one number to the other

number in 5 minutes.
When the minute hand completes one round in 60
minutes, then the hour hand moves to the next number.

Key Fact ‘/There are 24 hours in a day
@ ¢ |because hour hand completes
| .7 |two rounds in a day.

=1 day ; =y )

LSo, there are 60 minutes in an hour. )

* For effective teaching and learning, use 'Urdu or local language' as medium of
instruction to explain the concept of time.

"mf‘f » Demonstrate about the minute and hour hands using a big clock.

Oy .

129
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‘Let us learn to read and write time.
lThe hour hand is at 6. The minute hand is
at 2. It means that 10 minutes have passed.
[So the time is 6:10. We read it as six ten

ISR

1:45

One forty-five

o -2 5

K Try Yourself
: O\
’ Write the time for each clock.

\ g
CRAPALD
o &
v o~
5

When mmute hand is at 12 then we write '00' (zero) mmug 3

n Encourage the students to read and write time (with 5 mmute-mtervals) usmg B
ﬁw clock or chart. B

1,

B om e A 13o"“""""""_-
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2 /lhT here are 24 hours in a day. Hour hand of ]

a clock completes two rounds in 24 hours.

Noon

_ ﬁh_om

12 hours

rWe write a.m (ante-

meridiem) with time
which lies between
12:00 mid-night to

L 12:00 noon.

Night

\AHZ' We write p.m (post- :

¢ mid-night.

meridiem) with time
which lies between
12:00 noon to 12:00

Al goes to school
in the morning at

itas 7:00 a.m

7 o'clock. We write \

Ali completes
homework in the
evening at

7 o'clock. We write
itas 7:00 1

.m

J
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Look at the each picture and clock. Write time in a.m and p.m

( At what time does
Fatima wake up? o

()
o

:‘

2 at what time
does Fatima take

breakfast?

ﬂ\t what time
does Fatima play
in the evening?

1

VB

ﬁ\t What time does _—— ) ﬁ\t what time
Fatima come back /£ ' does Fatima do
from school? homework?

/-"/ﬁ'\ Instruct and guide the students to make a cf;
Zomer® UP time to sleeping time) using 'a.m' or o.m'

132

ﬁ\t what time
does Fatima offer
Fajr Namaz?

art showing different a
time,
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The small hand shows 'hours' and
the big hand shows 'minutes',

\, Terourself .

Read the time and draw hands of the clock.

m— WOF - .

We do not write a.m and p.m with 12 O'clock.
We write it as 12 00 noon or 12:00 mld-nlght |

R s — — e —-—

, n Guide and help the students to draw the hands of the clock and advise them to take care
K,I about the size of the hands (small and big) of the clock.

L EECNEEE
CamScanner
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"fThere areN:—36~;3u6r 366 days in a solar year. Ther_;
are 12 months in the year. A calendar is the
record of all months, dates and days of the year.

— .
—

Calendar

February

2 3 1 2 3 4 5 8 7
4 5 6 7 8 ® 1w 8 9 10 11 12 13 14
ALIEER T I D LI L 1 15 16 17 18 19 20 21
1 19 20 21 2 3 2 22 23 24 25 26 27 8

1 1
8 0 " 3 4 5 6 7 8 9 7 s 0 M o179
12 13 % 16 16 17 1% 10 1 12 13 14 15 18 14 15 16 7 18 9 @
19 20 21 22 23 24 28 17 18 19 20 21 22 23 21 2 23 4 35 @ 2
26 21 28 29 30 24 25 26 27 28 29 30 8 2 20
3
-
1
2 3 4 5 6 71 8
9 10 M 12 13 14 15
16 17 18 19 20 21 2
23 24 25 26 271 2 29
0 3
October

18 19 20 21 22 23 24
2 20 W M

23 24 25 26 2

1 2 3 1 3 4 5. 2103
4 5 6 T B ® 1 ] W Moz 13 44
1M 12 13 14 15 16 7 15 16 17 18 19 20 24
22
29

25 26 27
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R ’ B
rite the name of days for the given dates using the calendar.
e i N T ) o L A 8 N SR SN U s N g A e s g -
Date Day Date | - Day . “\|
TSRS A R S Wy el J e B M i :
10 January Sunday 14 August |
.
23 March 31 July |
5 October : 9 November l
|
| |
6 September 1 May i
|
22 June 25 December
5 February 21 April
\, =

Encircle the date and month of your birthday on ]

the calender.
Tick (v) the date and month of the

independance of Pakistan.

+ The Earth cdmpletes one revolution around the sun in 365 days.
Therefore, there are 365 days in a year.

« February is the shortest month of the year. It has 28 or 29 days.
|* There are 30 or 31 daysina solar month in general. g

(%1 CamScanner
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mlc / Lunar Calendar

x_..._._

Isla
4 or 365 days in a lunar year.

There are 35
There are 12 months in the year.
Calendar R e
Muharram Safar Rabi '"|-AW§| 5

: 1

2 345678
9 10 11 1213 14 15
16 17 18 19 20 21 22
23 24 25 26 27 28 29

Rabl-ul-Sani

24 25 26 27.28 29

7 89 10 11 12 13,
14 15 16 17 18 19 20.
2122 23 24 25 26 27

s i 1 2
3456789
10 11 12 13 14 15 16,
17 18 19 20 21 22 23

456 7 8910
11 12 1314 15 16 17
18 192021 22 23 24

25 26 27 28 29 30

Jammadi-ul-AwwaI

B 1l 2 | 375_
4 5 6?7,8 9 10

, ;’25 26,27 28 29 305

| Sha'ban )

15 16 17 18 19 20 21'

22 23 24 2526 27 28

67 8 9 10 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 2&
27 28 29 30

Jammadl-ul-Sam o

12 34i
5 6 7 8 9 10 91
12 13 14 15 16 17 18,
‘19202122232425

e —

26272829

Ramadan

1920 2122 23" 24 25

2800 3 B oo ROLALS oo ENGHEGNE W
 Shawwal iy "zmioa'daf{' e FT subkaeh i)
12 4 [ ] 2345 6 '7"- ?"M_?’“-"”“""’"’“”'"""“’

6 7 8 9101112

8 19 10 11,12 13 14|

1
5
]
%

1314 1516 17 18 19 15 16/17. 18 19. 20 21| 10/1112.13 14 15
20212223 '24 2526 222324 25262728 16 ;1? Jﬁi;%% 21 ;;
27 28 29 2 g 1 29 30 ] Egg’ 23 ﬁjwwﬁzs ﬁg

A,

s ©

Tell and help the students to learn the namés of the month
the help of chart or textbook page or lunar calendar.

s of a lunar year in order, with
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\,WT ry Yourself —

er the naTe_ pf days for the given dates using the calendar.
Date “; ~ Day | Date | Day
| 10 Muharram Monday 27 Ramadan |
18 Jammadi-ul 12 Rabi-ul- |
-Awwal . Awwal

5 Safar | 1 Shawal

. |

20 Jammadi-ul 19 Zul-Qadah i

-Sani i

|

29 Rajab 10 Zul-Hajjah |

|

25 Rabi-ul-Sani - 25 Sha'ban :

- | v

« Encircle the months on the calender in which w

celebrate Eids.
'« Tick (v') the month in which Muslims fast.

. + The lunar calendar is also known as the Hijri and Islamic calendar.
! + There are 29 or 30 days in a lunar month, depending upon the
. sighting of the new moon. i i el

$ i S

i —————————————————— A

R 137 e o
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| Have Learnt ..Q

there are 24 hours in a day.
there are 60 minutes in an hour.

to read and write time (with 5 minute-intervals.

to use a.m. and p.m. -
to draw hands of the clock to show the given | P-Mandam
time. Solar year
there are 365 or 366 days in a solaryear. . |* Lunaryear
there are 354 or 355 days in a lunar year. - Calendar
there are 12 months in a solar year and a lunar

year.

a calendar is the record of the all months, dates
and days in a year.

to find date/day using the calender. .ol

B Review Exercise
1. Choose the right option.

i. 1 hour = minutes _
(a)10 (b) 30 (c) 50 (d) 60
ii. The hour hand completes rounds in a day.
@1 (b) 2 (c)3 (d)4
iii. We write with time which lies between 12:00 mid-night to
12:00 noon.
(a)a.m (b) p.m (c) noon (d) night
iv. In the solar year, the shortest month is ;
(a) January (b) May (c) February  (d) December
v. Muslims fast in the monthof __ |
(a) Muharram (b) Rajab (c) Shaban (d) Ramadan
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2. Write the time.

5 \‘I|",'l'
‘\\\‘1 1 12 1"1[
10
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4. Write time with a.m. or p.m by reading the sentence,

' Ahmed goes to Our family takes  Ayesha Wakag
- School at  dinnerat9:15.  upinthe
- 8 O'clock. » | | mormngms&

| Badér'plays ; g Maryar»n;oﬁers Hina takes
football in the | Zuharnamazat | = breakfast at
~evening at 4:45. f 2:00. | T:25.

P
i

e

5. Write the correct order of the given months.

5 ) A Yy
May E_ August . Apiil j |

™

)

5‘ October g’ {‘_January.‘]

- SR ] 140
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: ---By the end of this unit, you will be able (o,

L Idetlmfy the fi gures Ilke square rectangle, triangle, circle' semi-circle and quarter-
circle.= . ;

Identnfy vertices and sides of a tnangle rectangle and square

Duﬁerentiate between a stranght line and'a curve. ;

. Identlfy stralght ||nes and curves from the given drawings. .
» Userulerto draw a stralght line of given length (exclude fractional length)..
ﬁ_-mMakel cc:mp|ete geometncal patterns on.square gnd accordmg to one or two of the

55
%
g b

!
H
3
i

B RIS PRTTIRAD

L

‘Can you tell the names
of toys’ shapes in the shop?
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Complete the following table by writing the name and number of
shapes glven above.

Aj( }jr- L ko o ool \:. F ‘ T )
Ly | Number of shapes

£ & o — <

) AL £ ) (
20 1 ‘
)Y ) P ) {
7/ N I g 7 N
; L | :
g f i j: | )
g

N A

)\ For effective teaching and Ieaming. use '‘Urdu or local Ianguage as medlum, J
g’ to explam the conoepts of geometry T e 2
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Let us divide a circle into two equal parts. |
3 Can you name the half part of the circle? )

Circle

One half part of the circle
is called semi-circle.

 Let us divide the circle into more equal parts.
We get more new shapes.

Semi-circles

—

Circle 2 equal parts 4 equal parts

- One quarter part of the circle Quarter-circle

s called quarter-circle.

) the 'ﬂunonstmhon method, draw a circle on paper. Cut it with scissors. cut the
e 'oantm equally and again cut it into more equal parts. Now, explain the
f semi-circle and quarter-circle. _

'

CamScanner
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JWT--, e & "‘1"& f :
(% Different Shapesiy
Y (  Quartercircles .

( Semi-circles

Colour the circle red, semi-circle green and quarter-circle yellow. Write the
tota!_ number of each shape.

gF oo
37 Bea

Ligtiome &0

: 3 :;:,1}3'15 i {; § 18y ; a & T
Circles ——  Semi-circles <ot drarge -

-

Draw different shapes (circle, semi-circle and quénéf-drdej :

i o 18

(% CamScanner
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_ | rectangle. o ¢§

! l It has 4 sides and

| - ert

.\;‘4 vertices. veriex )

» The plural of side is sides. , ]
* Corner of any shape is called vertex. The plural of vertex is

vertices. - J

/&ﬁtis a square. | R e j
/ - It has 4 sides and 4 vertices. «—side
\AII its sides are equal in length. vertex

.

/'ﬂtisatriangle. side "-,
|

llt has 3 sides and 3 vertices.

« All sides of a sqaure are equal in length. | = Ry
» Opposite sides of a rectangle are equal How many sides and

in length vertices does a circle have?
"« The sides of a triangle may or may not
. be equal in length. ol

UL

te between sides and vertices using teaching aids (chart/wooden shapes).
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Exercise 1

Complete the following.

—3
My name is . [
A
| have sides and vertices. ‘
My all sides are equal in length. | |
= ———
e

f

I have sides and vertices.

/A

Whoaml? _, .

pe y,
( =
I am a rectangle. | : _
lhave ____ sides and __ vertices. 7
\_ | | J

= Try Yourself

R S e L L BN D

My name is oval.

v lhave __ sides and _vertices.
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(1 hold a piece of thread in bo » B
in both hand
it tightly. s and pull |

: (“:ﬁ ’;’:'_", l
s $ |
Itis like a straight line. ‘
& TS )|
Straight Path | Different Straight Lines |
\ '
] 20 .
| hold a piece of thread in both hands and loose it. |
. w00, bt ; |
. } , g |
It is like a curved line. : |
- o g/ |
PUNSES———— e ———————
Curved Path Different Curved Lines

§
3
L S SO BT 1 33
e
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1. Match the lines with the correct names.

A

(@traight Lines

{Curved Lines}

.
™ 1

A

2. Write the total number of straight and curved lines in the given

shapes. ,
(" \( Y E )
Straight Lines Straight Lines Straight Lines —__
Curved Lines— || Curved Lines Curved Lines
\_ - J\_ J

3. Write the total number of
shapes.

straight and curved lines in the given

 Straight lines

”‘1’ ] 5

5
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s —

thtlsaruler 'ct:“12345578910111213141qj
We measure and draw a straight |
\_help of the ruler. ARG (e

H B e ___,_‘________,__________‘______________ﬁ________ ___.”/
o |
Let us measure the length of the given ) |
straight line. |
\ S0, length of the straight line is 6 cm. )
Let us draw a straight line that is 8 cm long using the ruler.
Hold the ruler firmly
on the paper.
Draw a straight line g |

from O cm to 8 cm
with pencil and
remove the ruler.

So, you have drawn 8cm |

long straight line.

0 1 2 3 4 5 6 7 8 9 10
cm

8cm a0l
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1.Measure the following straight lines using ruler and write jts 'engths

'._’ i T T _“__“V“——\\
n —
_________ cm {o | se¥hsns4,0M }
L 4T L
- i T - sy S
s cm }

2. Draw the straight lines for the given lengths using ruler.

4 cm long 'str_aightnline

: 2  § - : b .
By Lt

A-.-u '. LS
i RHN TR

6 cm long straight line . %““‘

10 cm long straight line
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o

[ Let us observe the different patterns J

41 on a grid.

— e
e e e o s it

Pattern of change in shape

Pattern of changein size =

i i SRR

attern of change in direction

in size and colour

the students to make patterns. Provide square grid to the students.
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Complete the following patterns and colour.
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the concept of 3-D shapes using different objects which are in classroom(book.
pener, etc). Tell the smdents to learn their names and difference among them.

(%3 CamScanner
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«

Write the name of each 3-D shape and match with the same
shaped objects.
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| Have Learnt .},
to identify square, triangle, circle, - ~ Vocabulary
semi-circle and quarter-circle. + Semi-circle
to identify and differentiate between ' Qua_rter-c,'rc'e
aht | q dli | + Straight line
straight line and curved line. Curved line
to draw a straight line using aruler. Ruler
to make and complete patterns Patterns
according to the shape, size and » Grid
orientation. | + 3-D Shapes
to recognize the 3-D shapes: cube i
i PR ElRe, Cuboid
cuboid, cylinder, cone and sphere. Cylinder
' ' Sphere
- Cone
Review Exercise |
Choose the right option. | '
~i. Which shape has 3 sides and 3 vertices?
(a) rectangle (b) square (c) triangle (d) circle

(a)

It is the shape of a quarter-circle.

Q (b) (5 (C)U (d) Q

I s T

(%3 CamScanner
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i, @ is the shape of |
(a) cylinder (b) cone (c) cube ~ (d) sphere

: , | il ?
iv. How many curved lines do a semi-circle have’

(a)0 (b) 1 (c) 2 (d)3

v. How many sides do a circle have?

(@) 0 (b) 1 (c)3 (d) 4

2. Draw a rectangle, triangle and square using the grid.

3. Write the total number of semi-circles and quarter-circles in
the given shape.

Semi-circles
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4. Write the name of each shape and its total number in the given

drawing. Colour it.

Circle 3

| 1| |

5. Draw a straight line of your own choice.

- e W N em—

P MR e S

B | 157
By - -
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tern of your own choice and colour them,

6. Draw two pat

o
— q_.-—__—————l__—-—-——"‘r'—“
"

——

— 1
__,,_——-—'4,,__.,-——*-—4,_‘.__-—‘—‘_.—-——

NN,
L___.-———-___————-ﬁ

1117

7. Match the each 3-D shape with its name.'

|
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